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Friday, February 1, 2008

--- On commencing at 9:36 p.m.


MR. KAISER:  Please be seated.  Mr. Millar.

Preliminary matters:


MR. MILLAR:  Good morning, Mr. Chairman.  I think there are a couple of preliminary matters.  I know people wanted to talk about schedule, and Mr. Shepherd wished to address the letter that he filed with the Board last night.


MR. KAISER:  Yes.  Mr. Shepherd.


MR. SHEPHERD:  Mr. Chairman, I sent a letter to the Board last night in which we've advised that the School Energy Coalition is no longer opposing the contested issues that we were opposing.  We're now taking no position on those.  So that partial settlement on those issues - not the issues that GEC and Pollution Probe are concerned with, but on those issues - is now, I believe, a complete settlement to be presented to the Board. 


If you have any questions -- you have the letter, I think, and if you have any questions, I'll be able to answer them.


MR. KAISER:  I wonder if we could ask counsel, I suppose.  I could ask Mr. Farrell.  Could we file an amended settlement agreement reflecting the letter?  


MR. FARRELL:  Yes, that's what we propose to do.  And I should say that we have begun tracking down the agreeing parties with a view to getting their consent, and we're just giving its consent to severing the Y factor issue that Green Energy Coalition and Pollution Probe are opposed on.


So that your decision on the accepting, or not, the other issues in the settlement agreement, now you don't have to consider the package concept.  That issue will be severed.  We've talked to many of the agreeing parties, but we haven't tracked them all down yet.  And we'll advise when we do so, sir.


MR. KAISER:  That will be helpful.  Thank you for doing that.  Mr. Penny, ready to go?


MR. PENNY:  I am, Mr. Chair.


MR. KAISER:  Mr. DeRose.


MR. DeROSE:  Mr. Chair, two points.  First of all, Mr. Warren on behalf of CCC and Mr. Buonaguro on behalf of VECC are not here today.  They ask that I speak on their behalf on this one point.  We just wanted to put on the record, and all three of our clients are hopeful, that in no way is Mr. Shepherd's change of position at the last minute to reflect badly upon him or his client.  


In our view, this is a very complex issue and Mr. Shepherd -- I don't think we are giving anything away saying even though this settlement process, the formal settlement conference, had ceased some time ago, there have been continued discussions throughout.  


And so we just wanted to put our support on the record, and just to indicate that in no way should this reflect badly on him or his client, on behalf of all three of those parties.


On a procedural question, I'm wondering if I could ask the Board's -- request that in terms of the Y factor cross-examinations today, it was unclear to me yesterday whether it was your intention that there be oral argument today, immediately following the cross-examination.  


I'm not sure whether that's something that you can determine in advance or not, but if it is possible to determine in advance, I would appreciate it for this reason.  My client has no questions in terms of cross-examination for these panels, but we do intend to make some short submissions on the argument phase, and so if you believe that argument will occur today, I will stay for the day and wait for the argument.


If you are certain that argument will not take place today, as I look out and I see the snow today, I will probably ask for your indulgence to leave early and hopefully catch a flight or start to walk home to Ottawa.


MR. KAISER:  How long do you think your argument will be, Mr. Penny?


MR. PENNY:  I'm prepared to proceed orally, and my recommendation is that we do it all, because this is essentially -- other than the tax issue, which has its own process, this is essentially now the last issue outstanding on this matter, and it would be good to get it over with.


So my vote is for oral argument and to get it all done today, and I think my argument is certainly no more than half an hour.


MR. KAISER:  Mr. Farrell, what is your position?


MR. FARRELL:  We concur with Mr. Penny's suggestion.


MR. KAISER:  Well, let's see if we can wrap this up by noon.  Does that suit you, Mr. Klippenstein?


MR. KLIPPENSTEIN:  As I said yesterday, I do have a submission with respect to the timing thing.  I have no objection to Union or them making their argument.  I would request that I not have to make my argument on this issue immediately after cross-examination.


It does require a little bit of digestion and framing, and I think I'd prefer to do that next week.  And I'd actually prefer to do it in writing, and I think maybe that perspective may align with Mr. DeRose and people who are looking out the window at the snow as well, so...


But that would be my request, that I not be forced to argue today.


MR. KAISER:  Mr. Poch, what's your position?


MR. POCH:  Mr. Chair, obviously, with perhaps a break to collect one's thought, in light of what Mr. Klippenstein said, I could be prepared to argue today, except I'm anticipating that we have a problem with a missing number or a missing answer from Enbridge.  


Now, Mr. Klippenstein and I are going to meet with Enbridge for a few minutes after we finish with this panel in the hopes that we can find some resolution, but I'm concerned that we won't have that, and I need either a number or an acceptance that the numbers I'm going to get -- I hopefully will get from Union, are in the range for Enbridge.


Now, I was going wait to raise this till after the cross in the hope that I won't need an undertaking from them, but I might, and I won't be able to -- I wouldn't want to argue before I had the answer, and not only that, have the answer and have an opportunity to make sure the answer is satisfactory.


So that's the difficulty I'm finding.  So I hate to do this to Mr. DeRose, but I'd kind of like to wait and see if I could be agreeing to that.  I just don't know if it's possible.  If it is possible, I can do it.


MR. KAISER:  Can the two of you file written argument by Wednesday?


MR. POCH:  Again, assuming we get an answer from Enbridge on a timely basis, certainly.


MR. KLIPPENSTEIN:  Yes.


MR. KAISER:  Mr. DeRose, I suppose you have no objection if the opposing parties file written argument?


MR. DeROSE:  No, that would be fine, and perhaps I could propose this, if everyone's fine.  If Enbridge and Union were to both make their arguments today, I could review them, and if IGUA feels it necessary to make further submissions -- because we would be aligned with the utilities, I think it's appropriate that Mr. Klippenstein and Mr. Poch receive our arguments before theirs. 


And I would suggest, if I could file that by end of day Monday, if we feel it necessary to supplement, that would then give Mr. Poch and Mr. Klippenstein an opportunity to respond to our submissions, and, just in terms of -- again, if I put on my residential VECC and CCC hat, I think Mr. Warren and Mr. Buonaguro would both also appreciate that type of opportunity.  


I think that would be fair and appropriate.


MR. KAISER:  Mr. Farrell and Mr. Penny, is that satisfactory?


MR. PENNY:  It is from our perspective, yes.


MR. KAISER:  You'll proceed orally today.  We'll have written argument filed Monday in the case of IGUA, Wednesday in the case of the other opposing parties, reply argument of course to follow, if necessary, from the two utilities.


MR. FARRELL:  That's satisfactory with Enbridge.


MR. KAISER:  We'll do the reply on Friday, Mr. Penny, Mr. Farrell, if that's satisfactory.


MR. PENNY:  It is, thank you.


MR. KAISER:  All right.  Let's proceed on that basis.  Thank you.  Mr. Penny.


MR. PENNY:  It is.  And, of course, this is the hearing on the issue of treatment of customer additions and whether customer additions should be tracked as a Y factor pass-through under incentive regulation.


The witness appearing for Union Gas is Mr. Birmingham, who's well known to the Board.  Perhaps Mr. Birmingham could be sworn.

UNION GAS - PANEL 1

Richard Birmingham, Sworn
Examination by Mr. Penny:


MR. PENNY:  Mr. Chairman, we provided parties and the Board with an updated copy of Mr. Birmingham's curriculum vitae, which should be on the desk before you.  And I'll be very brief here, Mr. Birmingham, that you are currently the vice-president of regulatory affairs for Union Gas?


MR. BIRMINGHAM:  That's correct.


MR. PENNY:  And I understand you've worked for Union Gas since 1989?


MR. BIRMINGHAM:  That's correct.


MR. PENNY:  And since 1997 you've held a number of vice-presidential positions, including regulatory affairs, sales and customer support, market management, and finance and business services?


MR. BIRMINGHAM:  That's correct.


MR. PENNY:  And you are, sir, a chartered accountant?


MR. BIRMINGHAM:  I am.


MR. PENNY:  And you have a Bachelor of mathematics from the University of Waterloo?


MR. BIRMINGHAM:  I do.


MR. PENNY:  And you have appeared before this Board in respect of Union Gas applications on numerous occasions and those are listed in your curriculum vitae?


MR. BIRMINGHAM:  I have and they are.

MR. PENNY:  Now, there's very little evidence in the record on the issue of customer additions, but to the extent that there is evidence on this -- that touches on this issue, Mr. Birmingham, are you in a position to confirm and adopt that evidence?  I believe there are some interrogatory answers?

MR. BIRMINGHAM:  I do.

MR. PENNY:  Thank you.  Now, as you know the issue involves customer additions and an issue around Union's incentives around incentive regulation to maximize customer additions.

As I understand it, the suggestion is -- we of course have no evidence or concrete proposal from Pollution Probe or GEC, but as I understand the suggestion is that the cost of customer additions be passed through to all customers annually as a routine or Y factor adjustment rather than requiring Union to manage those costs and revenues in this area, like most other areas under the price cap plan.

And I'd like you to, if you would, comment to the extent that you have a reaction to that concept, Union's position on that issue generally, and Union's response to the suggestion or the implicit suggestion that there should be a routine Y factor adjustment to pass through customer attachment costs specifically.

MR. BIRMINGHAM:  Yes.  Thank you, Mr. Penny.  As you indicated, we don't really understand the details of the proposals by the Green Energy Coalition or Pollution Probe.  We have some sense that, I think, Green Energy Coalition is pursuing potentially some form of targeted incentive around the customer additions capital.  And I think we understand that Pollution Probe may be pursuing an actual pass-through as a Y factor, as part of the incentive regulation framework.

But, without understanding the details, what we -- I think what we understand is their high-level concern, and that is when you are put under an incentive regulation framework, that they are concerned that we have an incentive to minimize our capital investments, and that would be minimizing including the investments that are related to customer additions.

I thought it might be helpful to indicate, from our perspective, why this is not a concern, and why we don't need a solution to a problem that really doesn't exist.

If I can start.  At Union Gas, if capital budget reductions are required, for instance, where we have warmer-than-normal revenue, and that revenue level does not support the level of capital investments that we would propose to make, then we start to take a look at a number of areas of cost reduction, including capital.  But the capital for customer additions is at the very bottom of the list.  It is the very last item that we would consider for reduction.

Now, I want when I talk about the capital for customer additions, I want to be clear that I'm excluding the capital that's related to single large-end users.  Those are stand-alone projects and stand-alone economics that we look at, so we're looking at the small volume customer additions that are captured our distribution portfolio.

And there's a number of reasons why we take that approach with respect to the capital for customer additions.  The starting point for us is the obligation to serve.  It's part of the regulatory compact, and where there are customers who are near our existing pipeline infrastructure, we have an obligation to serve those customers.

But then there are a number of other specific business dynamics that occur.  For instance, the first one would be, we really have no new communities that are economic for us to attach.  So attaching new communities isn't something, really, that we are looking at going into the future, because we've pretty much attached all the new communities that are economic to attach.

Second, we try to attach all the customers we can because if we don't do it that -- when the customers are ready for us to attach them, then we run the risk of losing them for at least the life of the equipment to which that service would relate.

So, as an example, if a customer wants to attach to our distribution system and invests in a furnace that would last them, say, 15 years, if at the time they want natural gas, if we don't connect them at that time, we will lose them for at least the life of the furnace.  So we'll lose them for 15 years.  And it has been our experience that we may lose them for actually longer than that, because when their equipment fails, that's when they'll make their next decision to replace that furnace with the exact same type of furnace and same fuel, or they'll switch.  But there's a certain amount of inertia that happens with customers, and a number of customers will just replace it with the fuel that they have.

So one of things we're obviously concerned about is that we're going to lose the customer for the life of the equipment, maybe longer, so we want to attach them when they are ready.

And unlike other types of capital investments that we make, there are no options for us here.  It's not like IT capital.  It's not like some of our Dawn-Trafalgar expansion capital, where there may be some short-term options, there may be bridging solutions.  There may be a possible deferral into another period.

When it comes to customer additions, they either wanted to be attached during that period or they don't.  And we try to meet that obligation at that point.  So we try to attach all the customers that we can.

Another specific business dynamic is Union Gas spends a fair bit of money marketing the benefits of natural gas and it would be not just contradictory, almost absurd for us to market the benefits of natural gas and then not attach customers when they say they're ready to use that fuel.

And then, finally, in terms of a specific business dynamic, we're concerned about the reputation of the company and we're concerned about the reputation of the fuel, that is, natural gas.  This is what we do; we provide natural gas service.  This is the core of our business, and we look to attach all of the customers that we can, because they provide a long-term stream of revenue for us.

So that kind of deals with the company's motivation,   why do we want to do this.  It may be helpful also to see how that approach has manifested itself in the past.  So, over the last seven years the customer attachment capital has represented somewhere between 11 and 25 percent of our annual capital budget.  And it's typically around 15 percent of our capital budget, where our capital budget would include things like an expansion of the Dawn-Trafalgar transmission system.

In 2003, which was the final year of our trial performance-based regulation framework, in that year we had a 2.3 percent rate reduction.  So, not the rate increase that we're looking for 2008 and the rate increases that we would be expecting through the incentive regulation period, but a 2.3 percent rate decrease.

We had a shareholder who was in dire financial straits and so we were in the situation where we were looking to constrain as much capital as we could.

So, in that year, our capital budget was $135 million.  That compares to our forecast capital budget, which will range between $265 million and $300 million for regulated assets in the 2008 to 2010 period.

And even with all those constraints we still attached over 30,000 customers, and you can see that in response to Exhibit C20.1.

Another example is in the years 2005/2006, Union did not have rates case, so there were no changes to rates during that period.  And still we attached 55,000 customers during that period.

So in summary, from Union's perspective, the parameters of the settlement agreement are sufficient for Union to pursue all of the customer attachments it can, just as we have in the past; that there is no other mechanism needed to address the capital for customer additions; that from our perspective any such mechanism is inconsistent with the objectives of incentive regulation, as they are laid out both in our evidence and in the Board's Natural Gas Forum report; and even if such a mechanism was implemented, it wouldn't affect Union's behaviour at all, because, as we say, our philosophy is we want to attach as many customers as we can, as soon as we can, where it's economic to do so.  So we're still going to pursue our core business.  Thanks very much.

MR. PENNY:  Thank you, Mr. Birmingham.  

Those are all the questions that I have of Mr. Birmingham in chief.  Thank you.

MR. KAISER:  Thank you.  Mr. Klippenstein.
Cross-examination by Mr. Klippenstein:


MR. KLIPPENSTEIN:  Thank you.  Mr. Poch and I, I think, have agreed that I go first.

Good morning, Mr. Birmingham.

MR. BIRMINGHAM:  Good morning.

MR. KLIPPENSTEIN:  I see from your resume that you're vice-president of regulatory affairs; is that right?

MR. BIRMINGHAM:  That's correct.

MR. KLIPPENSTEIN:  And as of February 15th, in two weeks you will also be vice-president of finance; is that right?

MR. BIRMINGHAM:  That's correct.

MR. KLIPPENSTEIN:  Congratulations and good luck.

MR. BIRMINGHAM:  Thank you very much.  In our company, the reward for doing good work is more work.

MR. KLIPPENSTEIN:  There's something about a Peter principle, somewhere, but I won't get into that.

MR. BIRMINGHAM:  I can't respond.


MR. KLIPPENSTEIN:  Mr. Chair and Mr. Birmingham, we would like to refer in Pollution Probe's cross-examination on a number of documents, and for the convenience of the parties and of the Board, or hopefully thereof for their convenience, we've compiled them into a Pollution Probe cross-examination reference book, which I think has been distributed.  We e-mailed it to all parties last night, and we have copies available for the Board.

And subject to any comments or questions or objections, I would ask that that be given an exhibit number.


MR. MILLAR:  K2.1.

EXHIBIT NO. K2.1:  POLLUTION PROBE DOCUMENT REFERENCE BOOK.


MR. KLIPPENSTEIN:  Do you have a copy, Mr. Birmingham?


MR. BIRMINGHAM:  I do, thank you.


MR. KLIPPENSTEIN:  Good.  I would like to start out by asking you to turn to tab 1 of the Pollution Probe document reference book, Exhibit K2.1. 


MR. BIRMINGHAM:  I do.


MR. KLIPPENSTEIN:  And we've included an excerpt from the relevant statute, and I'd ask you to refer to section 2, which refers to the Energy Board's objectives in relation to gas.  Do you see that on the page there?


MR. BIRMINGHAM:  I do.


MR. KLIPPENSTEIN:  And I've highlighted (3), but I'll just read section 2 of that Ontario Energy Board Act, and one of the Board's objectives with respect to natural gas regulation.


It says:

"The Board in carrying out its responsibilities under this or any other act in relation to gas shall be guided by the following objectives..."


Then (3):

"To facilitate rational expansion of transmission and distribution systems."


Do you see that?


MR. BIRMINGHAM:  Yes.


MR. KLIPPENSTEIN:  And if you could just keep that in mind and turn to tab 2 of the reference book, this tab contains excerpts from the OEB's March 2005 report on Natural Gas Regulation in Ontario, A Renewed Policy Framework.


And if you would turn to the second page of that tab, there is excerpted page 18 of the report; do you see that?


MR. BIRMINGHAM:  I do.


MR. KLIPPENSTEIN:  And according to that report of the Energy Board, the OEB has determined that its gas regulation framework must meet three criteria.


Do you see that in about the middle of the page?


MR. BIRMINGHAM:  Yes.  This is the same language that appears at page 5 of Union's settlement agreement in this proceeding.


MR. KLIPPENSTEIN:  Okay.  And one of the three criteria, the third one, is:

"Create an environment that is conducive to investment to the benefit of both customers and shareholders."


Right?  Do you see that?


MR. BIRMINGHAM:  Yes.


MR. KLIPPENSTEIN:  And then just hold that thought and turn to tab 3 of the reference book, going back a little further in time to part of the final report of the Board in the EBO-188 case on natural gas system expansion, and on the second page of that excerpt.  It begins with paragraph 2.2.5; do you see that?


MR. BIRMINGHAM:  I do.


MR. KLIPPENSTEIN:  And if you could just take a moment to read that paragraph, to refresh your memory?


I've underlined some parts, but, as I understand it, to summarize that, according to that paragraph 2.2.5, the Board found that an overall profitability index, or PI, of 1.0 for a utility's portfolio of system expansion projects will ensure that the existing customers will not suffer a rate increase over the long term as a result of distribution system expansion.  


Is that fair?


MR. BIRMINGHAM:  Yes, that's correct.  And you'll see that Union complies with that finding in its response to Exhibit C20.6, where we show the rolling PI for the distribution portfolio for the years 2002 to 2007.


MR. KLIPPENSTEIN:  All right.  Another aspect of paragraph 2.2.5 is that the Board found that an overall PI of 1.0 or better for a utility's portfolio of system expansion projects is in the public interest; right?


MR. BIRMINGHAM:  Yes.  They found that an overall portfolio PI of 1.0 or better is in the public interest; that's right.


MR. KLIPPENSTEIN:  Thank you.  And then if you could turn your direction to the next paragraph, 2.2.6, if you could take a moment to read that.


And would you agree with me that in that paragraph the Board noted that:

"For most projects their revenues in the early years are less than their costs."


Is that fair?


MR. BIRMINGHAM:  Yes, that's correct.  Typically, all of the capital for customer additions would be invested in a single year.  The revenue would only start to come in for part of that year, and then it will be in subsequent years that that investment starts to pay back, yes.


MR. KLIPPENSTEIN:  And one implication of that is that those projects' revenues are not sufficient to provide the utility with a fair rate of return on the equity capital that it has invested to hook up the new customers in the early years that we mentioned?


MR. BIRMINGHAM:  If you're to look at a single year and the impact on a single year from that investment, that is a conclusion that could be drawn.  But the -- what we're talking about is the fair rate of return on that investment over the life of the investment, and that fair return is provided by this approach.


MR. KLIPPENSTEIN:  But the comment that I  made would apply, potentially, to the early years?


MR. BIRMINGHAM:  Yes.  If you look at a single year or a very short -- or very small grouping of early years, yes.


MR. KLIPPENSTEIN:  Therefore, under the traditional cost of service regulation, the rates of the utility's existing customers are raised to ensure that the utility's overall rate of return on equity capital will equal its Board-approved fair rate of return on equity; is that fair?


MR. BIRMINGHAM:  I don't think you can make that conclusion, necessarily, Mr. Klippenstein.  The difficulty that I have with that comment is that you're looking at only one aspect of the distribution portfolio.  So if you looked at, for example, the customer additions that we'll put in place for 2008, those customer additions would generate a revenue deficiency for that year, but that can be more than offset by the customer additions that we've had in all of the years previous.


So to make an assumption that rates would increase because of that particular year's revenue deficiency, I don't think you can do that.  If you wanted to subdivide all the different dynamics that might go into a rate change, that would be contributing to pressure on upward increase to rates, but that wouldn't necessarily be the end result.  


You have to take all of our cost of service impacts into consideration.


MR. KLIPPENSTEIN:  Right.  Just to be clear, you mentioned 2008, but my question just asks about traditional cost of service regulation, so just to be clear about that.  And I guess I should say, all other things being equal, the rates of the utility's existing customers are often or sometimes raised to ensure that the utility's overall rate of return on equity capital will equal its Board-approved fair rate of return on equity -- not necessarily, but that can happen.  Is that fair?


MR. BIRMINGHAM:  Well, if all you wanted to do is say, We're going ignore all other aspects of the cost of service for a utility and look just at a single year's additions, would that put upward pressure on rates?  The answer would be yes.


MR. KLIPPENSTEIN:  Looking at the overall life cycle of a project, if a project has a PI of 1.0 or better, the overall net impact over its life cycle will be to lower Union's rates, is that fair, if it has a PI of over 1.0?


MR. BIRMINGHAM:  Yes, if it has a PI of exactly 1.0, then there should be, over the long term, no impact on rates and a fair return would have been provided to the utility.  If the PI is greater than 1.0, then it will have contributed overall, under cost of service, to a rate decrease.


MR. KLIPPENSTEIN:  And, therefore, such projects are in the long run financial best interests of both existing and new customers; is that fair?


MR. BIRMINGHAM:  Those investments benefit the new customers because of getting the service that they want, and it benefits future customers, because if the -- over the length of those investments, ultimately, the rates will go down because of those investments, yes.

MR. KLIPPENSTEIN:  Just to make sure I understood.  So the benefit would apply both to future -- sorry, both to existing and the new customers?


MR. BIRMINGHAM:  That's correct.  As long as they're on our system.  Yes.

MR. KLIPPENSTEIN:  If you could turn back to tab 1 of the document reference book.  I'd like to consider or have you consider another of these statutory objectives provided to the Board.  And this is sub-objective 5.  And in that respect the statute says:

"The Board, in carrying out its responsibilities under this or any other act in relation to gas, shall be guided by the following objectives:

(5) To promote energy conservation and energy efficiency in a manner consistent with the policies of the Government of Ontario."
Do you see that?

MR. BIRMINGHAM:  I do.

MR. KLIPPENSTEIN:  Now if you could turn to tab 4 of the reference book.

And this tab appears to contain the June 13, 2007, directive from the -- sorry, 2006, directive from the Government of Ontario to the Ontario Power Authority about the Integrated Power System Plan.  Is that fair?

MR. BIRMINGHAM:  Yes.

MR. KLIPPENSTEIN:  And if you look at the first directive, numbered 1, in the first sentence, it appears that the plan:

"... should include energy conservation programs to reduce the demand for electricity by 6,300 megawatts."
Do you see that?

MR. BIRMINGHAM:  Yes.

MR. KLIPPENSTEIN:  And then, dropping down a few lines, that same directive says:

"The plan should assume conservation includes fuel switching..." 
having hopped over a few words there.  Do you see that?

MR. BIRMINGHAM:  Among other things, yes.

MR. KLIPPENSTEIN:  And therefore the Government of Ontario has endorsed end-use fuel-switching from electricity to natural gas as a means to achieve its electricity energy conservation goals; is that fair?

MR. BIRMINGHAM:  I think at this point, Mr. Klippenstein, I'd characterize it as the Government has endorsed fuel-switching as part of the portfolio of initiatives that they would like to see to achieve the conservation goals under the IPSP.

MR. KLIPPENSTEIN:  Thank you.  And then, if you could direct your attention to tab 5 of the reference book, which contains an excerpt from the OPA's IPSP with respect to the directive priority.  And I'll refer you to page 2.  But do you see that, the excerpt that we've included there?

MR. BIRMINGHAM:  Yes.  These are the five bullet points?

MR. KLIPPENSTEIN:  Correct.  And if you could have a look at those bullet points, that are on page 2 of the excerpt.  It says near the top:

"In summary, the directive priority is as follows:  
1.  Maximize feasible cost-effective contribution from energy efficiency demand management fuel-switching and customer-based generation conservation."
Do you see that?

MR. BIRMINGHAM:  Yes.

MR. KLIPPENSTEIN:  Now if you could turn, please, to tab 6 of the reference book.  And I'd like to move forward to some specifics related to interrogatory answers from Pollution Probe.  If you could turn to the second page of that tab, which is Exhibit C20.2.  Do you see that?

MR. BIRMINGHAM:  I do.

MR. KLIPPENSTEIN:  And I understand from that that according to Union's response, very few of its year 2006 new customer additions would have a positive net present value during their first five years.  Is that fair?

MR. BIRMINGHAM:  That's true.  And that would be true for pretty much any year where we have new customer additions, yes.

MR. KLIPPENSTEIN:  Sorry, your last comment.  You just -- you mean initially, not... you don't mean every year?

MR. BIRMINGHAM:  No.  I mean that the new customer  additions in 2006 is what this response refers to.  You could make the same comment about the new customer additions in 2005 or the new customer additions in 2001.

MR. KLIPPENSTEIN:  Okay, thank you.

MR. BIRMINGHAM:  For the first year or for the first five years of those investments.

MR. KLIPPENSTEIN:  Okay.  And then the response also says:

"Based on the 2006 portfolio, the net present value becomes positive in 20 years for the southern operations area and 14 years for the northern and eastern operations area."

Correct?

MR. BIRMINGHAM:  That's right.

MR. KLIPPENSTEIN:  Then if you, in the same tab, turn a couple of pages to Exhibit 20.4, updated, this page shows the first-year revenue deficiencies of Union's year 2006 new customer additions; is that right?

MR. BIRMINGHAM:  In the first column, under "2006" it shows the capital investment and the return, and the expenses that are associated with that investment, as well as the net margin that's associated with the assumption that the customers come on and receive gas service halfway through the year.

MR. KLIPPENSTEIN:  And the result is that it's showing the first-year revenue deficiencies to have year 2006 new customer additions; right?

MR. BIRMINGHAM:  With that revenue deficiency being $3.7 million as an estimate, yes.

MR. KLIPPENSTEIN:  Right.  Just to put that deficiency of $3.7 million in context, what was Union's overall Board-approved revenue requirement for 2006, including the gas commodity costs, for its in-franchise customers?  Do you happen to know that, roughly?

MR. BIRMINGHAM:  Including gas commodity costs?

MR. KLIPPENSTEIN:  Yes.

MR. BIRMINGHAM:  I don't have that number.  I can tell you that we typically look at our overall margin and that overall margin is roughly $875 million.

So that deficiency would represent 0.4 percent of that number.

MR. KLIPPENSTEIN:  Now, I am also interested in the amount that includes the gas commodity cost, and is it fair to say that figure would be over $2 billion?

MR. BIRMINGHAM:  It would be much higher than the margin number, yes.

MR. KLIPPENSTEIN:  Right, then it would be over 2 billion, probably; right?

MR. BIRMINGHAM:  Roughly, yes.

MR. KLIPPENSTEIN:  And are you able to calculate, similar to the number you just gave me, what that revenue deficiency of $3.7 million would be in the context of the $2 billion number we looked at as a percentage term?  This is a test as to whether you'll be a good VP of finance.

MR. BIRMINGHAM:  I studied all the wrong stuff, Mr. Klippenstein.

If it was $2 billion as a gross revenue number, you're talking about something of the order of 0.19 percent.

MR. KLIPPENSTEIN:  Now, looking at the subsequent years to 2006, or rather let me rephrase that, just to be clear.

In the subsequent years, the 2006 new customer additions have revenue sufficiencies, according to that table; is that right?

MR. BIRMINGHAM:  That's correct.  Beginning in the year 2007, they start to -- they are accretive to earnings and they start to gradually increase their contribution to the company as the investment years go on.

MR. KLIPPENSTEIN:  Right.  And the sum of these sufficiencies in the second, third, fourth and fifth years, as I do the math, is $3.3 million; is that fair?

MR. BIRMINGHAM:  That's correct.

MR. KLIPPENSTEIN:  And therefore the net efficiency of the 2006 new customer additions over their first five years is $0.4 million.

MR. BIRMINGHAM:  That's correct.

MR. KLIPPENSTEIN:  Now if you could turn to the second page of that Exhibit C20.4, updated.  At the very top of the page, the answer says:

"As it did during its trial PBR term, Union will continue to ensure that the system expansion guidelines are met during the term of the incentive regulation."


During what period did Union's trial PBR term occur, the one that's referred to?


MR. BIRMINGHAM:  In the years 2001 to 2003.


MR. KLIPPENSTEIN:  Thank you.  Then if you would turn to Exhibit C20.6 in the same tab.  Do you see that?  Do you have that?


MR. BIRMINGHAM:  Yes, sir.


MR. KLIPPENSTEIN:  The last column in the table shows that aggregate annual PI of Union's portfolio of system expansion projects from 2002 to 2007; is that fair?


MR. BIRMINGHAM:  That's correct.


MR. KLIPPENSTEIN:  Now, using the years from 2002...


So I don't have 2001, which you referred to as the first year of the trial PBR, but during the second two years, according to that table, the PI of the system expansion portfolio rose from 1.29 to 1.46; is that right?


MR. BIRMINGHAM:  That's correct.


MR. KLIPPENSTEIN:  And while the EBO-188 guidelines establish a floor of 1.0 for the PI of the Union system expansion portfolio, the guidelines don't establish a cap on that PI index; is that fair?


MR. BIRMINGHAM:  That's correct.  The guidelines are that the portfolio should have a PI of 1.0 or better.


MR. KLIPPENSTEIN:  And I take it in any given year, do all new customer additions have the same PI?  I presume not.  Is that fair?


MR. BIRMINGHAM:  I just want to make sure I understand your question, Mr. Klippenstein.


Does each year's customer additions portfolio --


MR. KLIPPENSTEIN:  No.  Sorry, I apologize.  I'll rephrase that.


In any given year, do all new customer additions have the same PI, individually?


MR. BIRMINGHAM:  Within the portfolio?


MR. KLIPPENSTEIN:  Yes.


MR. BIRMINGHAM:  We don't track them on an individual basis, but I think it's fair to say that the answer is no.  There will be customers who are a little bit closer or a little bit farther from our system, and that will change the costs and, therefore, change the economics of their attachment.


MR. KLIPPENSTEIN:  And would it be fair to say, based on your general knowledge, that some new customer additions have quite a bit higher PIs than others?


MR. BIRMINGHAM:  As I say, Mr. Klippenstein, we don't track them on an individual basis, but there will be a range around this number.  But it won't be a terribly wide range.


MR. KLIPPENSTEIN:  But it would be -- it wouldn't be trivial.  It would be significant in some cases, the differences, because of various factors; is that fair?  


MR. BIRMINGHAM:  I'm not exactly sure how you're going to define whether it's trivial or not.  You would typically not see a new customer addition, for instance, with a PI of 10 on an individual basis.  As I say, you might see some variation around these numbers, but it's in a fairly narrow band.


MR. KLIPPENSTEIN:  But do you happen to know if you have any above 5, for instance?


MR. BIRMINGHAM:  I don't, but I'd be surprised if we did.


MR. KLIPPENSTEIN:  Could Union reduce its first-year system expansion revenue deficiency by reducing its number of new customer additions which have relatively low PIs?


MR. BIRMINGHAM:  Well, to the extent that those customer additions are contributing to the first-year revenue deficiency, reducing those customer additions would reduce the first-year impact.  The problem with that approach is that you give up all of the future years' revenue that then contributes to the earnings of the company.


MR. KLIPPENSTEIN:  Given what you said, it would also be true, I take it, that Union could reduce its first-year system expansion revenue deficiency by reducing its number of low PI customer additions and thereby increasing the aggregate PI of its portfolio of new customer additions?


MR. BIRMINGHAM:  I guess to the extent that those are customer additions that are not caught under the obligation to serve, that's a theoretical possibility, but it's not a practical approach for us.


MR. KLIPPENSTEIN:  However, the answer specifically to the question would be yes, subject to the factors you mention; is that fair?


MR. BIRMINGHAM:  It's theoretically possible, subject to the obligation to serve.


MR. KLIPPENSTEIN:  If you could turn to Exhibit C20.1 at tab 6?


MR. BIRMINGHAM:  I have it.


MR. KLIPPENSTEIN:  And according to that exhibit, in 2006 Union had 26,346 new customer additions; is that right?


MR. BIRMINGHAM:  That's correct.


MR. KLIPPENSTEIN:  Can you turn back to Exhibit C20.5 on the same tab, updated?


MR. BIRMINGHAM:  Yes.


MR. KLIPPENSTEIN:  This interrogatory asked Union to calculate its revenue deficiency associated with its year 2008 new customer additions; is that fair?


MR. BIRMINGHAM:  That's correct.


MR. KLIPPENSTEIN:  And according to the response we received here, the first-year revenue deficiency in 2008 will be $2.5 million?  That's on page 2 in the table there?

    MR. BIRMINGHAM:  That is.


MR. KLIPPENSTEIN:  And this is $1.2 million less than your year 2006 first-year revenue deficiency for new customer additions; is that right?


MR. BIRMINGHAM:  That's correct.


MR. KLIPPENSTEIN:  And just comparing those numbers, your revenue deficiency has dropped by 32 percent relative to 2006.  That's 2.5 million versus 3.7 million; is that fair?


MR. BIRMINGHAM:  It has been reduced by about a third, yes.


MR. KLIPPENSTEIN:  And in 2008, your forecast number of new customer additions is 20,479, and that's again on the top table on page 2 of Exhibit C20.5; is that fair?


MR. BIRMINGHAM:  That is our current expectation for 2008, yes.


MR. KLIPPENSTEIN:  That is, your number of new customer additions have dropped by 3,867, or about 15 percent, relative to 2006?


MR. BIRMINGHAM:  That's right.


MR. KLIPPENSTEIN:  According to that page, approximately in the middle of the page, the response says:

"Union does not feel it will have any different incentive to attach customers under incentive regulation than it did under cost of service."


Could you explain what you mean by that, to the extent it differs from what you've already said?


MR. BIRMINGHAM:  No, that was really the purpose of my opening comments, Mr. Klippenstein, is to indicate the motivation and the reasons why Union wants to attach as many customers as it can, where it's economic to do so.


One of the things that you may be looking at when you're comparing 2006 to 2008, and what's happening with respect to the first-year revenue deficiency, there's a couple of dynamics there.


Number one is, when you're looking at the 2008 number, we had a rate increase from the 2007 cost of service that is contributing to a higher net margin for those customers, and then we're also reflecting the 2008 incentive regulation rate increase in there.  So the revenue per customer has gone up for the 2008 additions, compared to the 2006 additions.

The second economic dynamic in that first year is, if you look at the 2006 customer additions, that utility return that is required for those amounts, as based on the Board's allowed rate of return calculation, the return on equity on those rates was 9.62 percent.


When we're looking at the 2008 utility return required, that has been adjusted to the 2007 allowed return, which is 8.54.

So we've had an increase in the revenue per customer for the 2008 additions and a reduction in the costs because of the reduction in the return on equity.  And that's why you're seeing an impact from -- on the revenue deficiency.

Now, with respect to the customer additions and the reduction of almost 4,000, we follow the very same forecast methodology for all of those years.  We take a look at the economic activity that's going on in our franchise area and we determine what the level of housing starts are and what the level of the customer attachments are going to be.  And what you're seeing here, year to year, is a reflection of the economic downturn that's happening in our franchise territory, in particular in areas like southwestern Ontario and the City of Windsor, which is heavily tied to the automotive sector and heavily tied to the U.S. economy.

So there's a very high unemployment rate in southwestern Ontario right now, and that's being reflected in the housing starts and in the customer attachments that we expect to see over this periods.

So there has been no change in the way that we've approached the forecast of our customer attachments; it's really a matter of the methodology.

MR. KLIPPENSTEIN:  Okay.  Thank you.  Next, the next paragraph on that page says:
"If one assumes every year of the five-year term of the incentive regulation has the same revenue sufficiency or deficiency impact as the 2008 forecast customer additions, the resulting cumulative impacts would be as follows..."

And then there's a table presented.

According to that table, the bottom of the page, the cumulative five-year impact of 22,479 new customer additions per year will be a revenue surplus of 3.9 million.

Is that fair?  

MR. BIRMINGHAM:  Accumulating the impacts of the five years, yes.

MR. KLIPPENSTEIN:  Okay.  Then if you could turn back to Exhibit C20.4, updated.

MR. BIRMINGHAM:  I have it.

MR. KLIPPENSTEIN:  Page 2 of that C20.4 shows, in comparison, the cumulative five-year impact of the 2006 new customer additions per year of 26,346.  And that comes to a deficiency or a minus 10.9 million; is that fair?

MR. BIRMINGHAM:  That's correct.  And as I say, the difference between those two numbers really is the higher incremental revenue that came from the rate increases in 2007/2008, and the lower costs that came as a result of re-establishing the allowed return on equity.

MR. KLIPPENSTEIN:  It will likely be Pollution Probe's submission that Union's shareholders should not be financially penalized for attaching new customers as long as the PI of its portfolio of new customer additions is 1.0 or greater.

And we'll probably be submitting that this objective could be achieved by making the revenue associated with new customer additions -- sorry, the revenue deficiency associated with new customer additions a Y factor.  That is, during each year Union could raise its rates to recover the revenue deficiency associated with its new customer additions.

Do you understand the concept that I've just described as being Pollution Probe's likely proposal?

MR. BIRMINGHAM:  I understand the concept.  I do not agree with the position.

MR. KLIPPENSTEIN:  Okay.  Given OEB's statutory mandate that we've reviewed, and the government policy in favour of end-use fuel-switching from electricity to natural gas, are there any reasons that you can suggest why Pollution Probe's proposal would be contrary to the public interest?

MR. BIRMINGHAM:  It's contrary to the public interest from my perspective, Mr. Klippenstein, because it's not needed.  What you would be talking about is annual rate increases to reflect any revenue deficiencies for the new customer additions.  That will result in rate increases with no discernable benefit to ratepayers.  And it's not going to change Union's behaviour at all.

MR. KLIPPENSTEIN:  Would Pollution Probe's proposal as I've just described it, to make the revenue deficiency associated with new customer additions a Y factor, be prejudicial to Union's shareholder?

MR. BIRMINGHAM:  It's not prejudicial, it's simply unnecessary.

MR. KLIPPENSTEIN:  Thank you, Mr. Birmingham.  I have no further questions.  Thank you, Mr. Chair.

MR. KAISER:  Thank you.  Mr. Poch.
Cross-examination by Mr. Poch:


MR. POCH:  Thank you, Mr. Chair.  As usual, I am in a cleanup role and I can almost throw my script away now that Mr. Klippenstein's has done his cross-examination.  Bear with me and I'll be a little disjointed but I'll see what I can do.

First of all, in your opening comments, Mr. Birmingham, you've indicated --

MR. SOMMERVILLE:  Mr. Poch, I'll interrupt you right at the beginning so that I don't interrupt you later.  Is there a discernable difference between the position that your client has and that that has been represented by Mr. Klippenstein?

MR. POCH:  There is indeed, sir.  It's exactly where I was going with it.

MR. SOMMERVILLE:  Thank you.

MR. POCH:  I was going to describe it to Mr. Birmingham, but really it's for your benefit.

MR. SOMMERVILLE:  Okay.

MR. POCH:  And that is this, sir.  Pollution Probe is proposing to take, as you just heard, the deficiency, and pass it through as a Y factor.  And you heard Mr. Klippenstein's concern that it would end up raising rates.

GEC's proposal, we anticipate, unless we get some surprises in cross, is to ascertain what the difference is that the company feels in its profits by going for a marginal attachment or not within the IR period, because it then has to carry that cost of capital until rebasing, which is really the major change.

And if we presume that the cost of service regime was giving them -- or the Board felt it was giving them adequate incentive to engage in customer attachments, what we want to do is just address the decreased incentive that the company now faces for capital additions, particularly for customer attachments.

So what we're proposing is just to target incentive of that, and thus, if they -- if Mr. Birmingham is correct and they just do what they were going to do anyway, steady-state, no impact on rates, the company is in this -- has the same net incentive as it has always had.  If it goes a little further, and as Mr. Klippenstein has pointed out, it's in the public interest to make these attachments if they're greater than one PI, everyone benefits.

But perhaps most important, if the company for some reason takes the bait and decides not to be as aggressive on customer attachments or to forego the less profitable ones, the incentive we're going to propose would be symmetrical, so it would face some loss, some penalty.

And that I will put to Mr. Birmingham is appropriate because the rate inflation, the rate escalation formula, is rewarding the company on a built-in assumption that it's carrying on its business as usual with the customer attachments.  And we wouldn't want to, in effect, recover its reward on the assumption it had made those attachments when it didn't.

So you've now had my argument in a nutshell, and Mr. Penny can wind up his argument, having heard that, and I hope that helps you, Mr. Birmingham, in understanding my questions and assists the Board in understanding where the differences are.

MR. PENNY:  Mr. Chairman, I would just observe, although I don't think I'll use up more time by objecting to questions.  We should hear what Mr. Poch has to say.  But what Mr. Poch has described sounds exactly like a service-quality requirement with financial penalties associated with it.  And I note that only because that was an issue that was raised at the outset of this hearing, and that was that service quality issues are not part of this proceeding, as the Board ruled at the outset.

MR. POCH:  Mr. Chairman, just to clarify, I'm not asking the Board to come up with an SQI or an SQR.  I'm asking for an incentive, the pivot point of which -- the one added thing I should mention is the pivot point will be a customer additions number that reflects the ratio we've seen in recent years of housing starts to customer attachments.  So we've an exogenously pre-determined pivot point.  It doesn't require any elaborate clearance process.

So with that, let me move into my questions quickly, then.

Mr. Birmingham, the IR mechanism, obviously, is intended to drive the company to be more efficient both in capital and operating expenditures; fair enough?

MR. BIRMINGHAM:  The intention for incentive regulation for Union Gas is to have a framework that gives us incentive to become more productive, and that's both to grow the company and to become more cost efficient with respect to our operating costs; that is right.

MR. POCH:  One of the significant changes -- the differences between IR and cost of service - I think you acknowledged this in your opening comments - is that the IR mechanism now, in effect, gives you some incentive to be more efficient on capital expenditures, whereas before the only mechanism, really, for that was the kind of prudence review?

MR. BIRMINGHAM:  It is intended to give a greater incentive to become more productive.

MR. POCH:  Okay.  And can we agree that there really are two kinds of efficiencies, if you will - and maybe savings would be a better word - that could result?

One is you do a better job or a job more cost effectively, and that's the obvious one that we are trying to achieve here, but there's a second category that we would be concerned about, and would you agree that that category would be, if you do a worse job or you reduce -- in that you reduce service quality or extent, you achieve some savings for the company in the five-year period at the expense of service quality or extent of service.  That would be undesirable; do we agree?

MR. BIRMINGHAM:  That would be undesirable and is not in our best interest.  That's correct.

MR. POCH:  Well, in fact, there are examples where there's concern that you might find it in your interest, and the Board in their -- has put in place service quality regulations, service equality indicators, in certain instances, have they not, in the past?

MR. BIRMINGHAM:  The Board did have a process to deal with service quality requirements, which was intended to ensure adequate service levels to customers under any regulatory framework, including incentive regulation.

MR. POCH:  Right.  But now we have a new concern that's arising that didn't exist in the past, and that is with respect to capital, and so that is what I want to address.

First of all, you mentioned one of the reasons you think it's unnecessary, you have this obligation to serve.  Can we just run through the categories so we can understand where your legal obligations are and where you have some -- you're driven by business considerations?

So new residential customers that are contiguous to a main, I take it those are the ones you are referring to that you feel you have an obligation to serve?

MR. BIRMINGHAM:  Those customers that are contiguous to our system we do have an obligation to serve, not that we feel we do; we do.

MR. POCH:  Yeah.  And whereas if you have a new subdivision that requires some main linkage or extension, is that captured in that obligation?

MR. BIRMINGHAM:  It may or may not, Mr. Poch.  It really depends on the level of the investment, the distance that we have to travel.  But we don't track our investments that way, and there's a very good reason why we don't.  We want to try to attach all the customers that we can.

MR. POCH:  Yes, I've heard that point.  But I'm just asking about whether you have a legal obligation to attach that subdivision.

MR. BIRMINGHAM:  If they are near to our existing pipeline infrastructure, yes, we do.

MR. POCH:  And what's the test, the legal test, that you feel is applicable?

MR. BIRMINGHAM:  I don't know what the test is.  It hasn't been important to us because of the way we operate our company.

MR. POCH:  So there is some category of non-contiguous subdivision, which you acknowledge is -- you're not legally obliged to serve, and there would be a business judgment made?

MR. BIRMINGHAM:  As an example, I think going to a new community that's a significant distance from our existing infrastructure would be an example of that, yes.

MR. POCH:  All right.  And commercial, small industrial loads, similar -- a similar distinction to be made, with the proviso that you may also be able to extract -- well, indeed in the case of the subdivision, you may be able to extract a contribution that helps your business case?

MR. BIRMINGHAM:  Yes, where it's economic to serve them, that's true.

MR. POCH:  And with respect to fuel switching loads,  heating loads, in particular, from electricity to gas, I take it you have no obligation there, do you, to assist in that, ever?

MR. BIRMINGHAM:  Well, again, Mr. Poch, I think it depends on where the load is going to be located.  If there is a customer who is currently using electricity to fuel their home and they are close our existing infrastructure and want natural gas service, we have an obligation to serve them.

MR. POCH:  You have no obligation to, in your marketing efforts, in your -- in other ways to assist the customer with the costs of conversion, for example?

MR. BIRMINGHAM:  Well, let me just break that down a little bit.

In our marketing efforts, in fact we try to do exactly that, which is to assist customers in evaluating, for instance, the cost of using an electricity-fuelled water heater against a natural gas one and to show the advances of using natural gas, not just financial, but environmental.

MR. POCH:  Let me just stop you there.  Historically, yes, you've been trying to do that, and I'm just asking what your obligation is going forward.  You don't have any obligation to market for those loads?

MR. BIRMINGHAM:  We don't have a legal obligation to market for those loads.  We have a strong financial incentive to grow our system.

MR. POCH:  And you don't have any obligation to incent in any fashion the switch-over, the costs that customers face?

MR. BIRMINGHAM:  We don't have a legal obligation.  We could provide an incentive to customers if it made economic sense to do so.

MR. KAISER:  Right.  Okay.  Now, the IR regime that you've negotiated with the other parties, it was built upon adjusted -- 2007 rates with certain adjustments.  First of all, let's start right there.  Let's make sure I'm not stepping off on the wrong foot here.


That's the starting point for the arrange -- for the agreement; correct?

MR. BIRMINGHAM:  The Board had established the base rates through a 2007 cost of service hearing and decision, and then there were certain base rate adjustments that were made as part of the settlement agreement with the parties.

MR. POCH:  Right.  And without getting into any detail, the whole point of the exercise was to come up with a formulation for where the rate goes or the price goes, in your instance, that takes account of what the trend has been for your overall revenue requirement, given both operating and capital investments, and then tries to include some productivity improvement.  Fair summary?

MR. BIRMINGHAM:  One of the inputs to determining the parameters of the settlement agreement was a study on Union's historical productivity.

MR. POCH:  Sure.

MR. BIRMINGHAM:  That was a consideration for the parties, yes.

MR. POCH:  And that considers both the changes in the revenue requirement you're facing on the capital and on the operating side?

MR. BIRMINGHAM:  It includes the company's overall productivity.

MR. POCH:  Sure.  Now, my concern, in case it wasn't obvious, is that you've got this rate escalation formula in place, which made some presumptions about where you're going with your capital program.

Once that's -- once the Board signs off, assuming they do, once you're inside the period, the margin -- what I want to look at is the marginal economics to the company of a decision to add or not add a particular customer, where you have the liberty to make that choice.  Do you understand where I'm headed?

MR. BIRMINGHAM:  I do, Mr. Poch.  I just -- maybe can help me.

You're suggesting that there is some different motivation for the company to look at this compared to, say, when the Board signed off on our trial PBR or when they make a decision on cost of service on a prospective basis?

MR. POCH:  I'm just going to look at cost of service for now.  We can come back to trial PBR later, but as compared to cost of service is what I wanted to look at, okay, just so you know where I'm heading.

MR. BIRMINGHAM:  I understand.

MR. POCH:  So both under cost of service and IR, you add a customer.  You get the added margin, the net revenue from that customer addition for whatever the remaining -- if we're looking at the five-year period ahead and imagining, on the one hand, you're under cost of service for five years; on the other hand, you're under the IR regime.

All else being equal, either case, you're going to add a customer; you're going to have the added revenue stream margin from that customer; fair?

MR. BIRMINGHAM:  That's correct.

MR. POCH:  All right.  

Under cost of service, you have got a capital investment, and that goes into rate base virtually right away; correct?

MR. BIRMINGHAM:  We do have a capital investment that we make that goes into rate base and goes in in an amount subject to when that comes into service, yes.

MR. POCH:  Sure.  So with that slight delay from when it comes into service, you're going to have the added cost of servicing the capital and the added revenue that the Board allows you on that capital investment under cost of service.

MR. BIRMINGHAM:  We're going to have the revenue that the customer generates based on the rates that are approved by the Board.

MR. POCH:  Right.  And if there's -- if it affects your sufficiency or deficiency, the Board -- well, let me just stop there.

The Board allows you a return on your equity, on the equity you've invested to hook up the -- or the capital you've invested to hook up this customer.

MR. BIRMINGHAM:  That is correct.

MR. POCH:  And you start to enjoy that virtually right away, as soon as customer's in service.

MR. BIRMINGHAM:  That is one of the inputs to setting our rates, yes.

MR. POCH:  Yes.  And under incentive rate regulation, though, you may not be rebasing for up to five years.

MR. BIRMINGHAM:  That's correct.

MR. POCH:  And so you're not going to -- while the rate escalation formula may protect the company's overall position, in terms of the marginal difference that it makes whether you add a customer or not, you're not getting an increase in return on equity for that added equity investment, not until you rebase.

MR. BIRMINGHAM:  That's correct, Mr. Poch.  I think if you look at the response to Exhibit C20.4, you'll see exactly that.

So when we look at the 2006 customer additions as an example, the first year revenue deficiency would be $3.7 million.

MR. POCH:  Right.  We'll come back to those numbers in a few minutes, I think I'll be there very quickly.

Now, you make the capital investment, say, in year 1 of your IRR, you do get to depreciate it for tax purposes; correct?

MR. BIRMINGHAM:  For both accounting and tax purposes we depreciate the investment.

MR. POCH:  Sure.  When you eventually get to rebasing at the end of this process, it would be the depreciated amount that you would be proposing to add to rate base.

MR. BIRMINGHAM:  That's correct.

MR. POCH:  So, relative to cost of service, all else being equal, you're getting a delayed and depreciated addition to rate base?

MR. BIRMINGHAM:  There isn't a redetermination of rate base until the rebasing hearing, that's right.

MR. POCH:  And a consequence of that is you get a delayed and depreciated addition to rate base, for a particular addition, as opposed to under cost of service.

MR. BIRMINGHAM:  That's correct.

MR. POCH:  Okay.  So let us turn, then, to those numbers you were looking at with Mr. Klippenstein.  I think that you provided an answer to him, an answer to both my question and his, so that's fine, and that was C20.4, which appears in Mr. Klippenstein's book, tab 6.

Now, I think let's start with C20.4.  Let me make sure we understand this.

This is really an attempt to say:  If everything's the same in 2000 -- in the future as it was in 2006, if our costs for, you know, the average capital addition was -- rather, customer additions cost what it cost in 2006, if the number of customer additions was the same and so on, and our cost structure was the same, here's the effect you get over five years when you're in an IR regime; is that fair?

MR. BIRMINGHAM:  Well, the 2006 really just shows the financial impact on the company over that five-year period.  That period doesn't match up to the incentive regulation period, obviously.  We can see that more clearly in the response to Exhibit C20.5.

MR. POCH:  I didn't mean to imply – I’m just trying to make an apples-to-apples comparison, say you're under an IR from 2006 to 2010, here's what would happen.

MR. BIRMINGHAM:  That's right.

MR. POCH:  If all else being equal.  Okay.  That's very helpful.

And the second table in that answer is -- the first table just takes the one-year impact and the second table shows the compounding effect, assuming your capital -- your customer addition program was locked in, in a steady-state.

MR. BIRMINGHAM:  Yes.  If we had the same number of customer attachments each year over a five-year period, that's what the second table shows.

MR. POCH:  Right.  So, in the bottom row of these tables is what you've done is you've taken your -- the numbers on a company-wide basis.  You've divided by the number of capital -- of customer additions, attachments, I should say, and so you get a per-customer attachment sufficiency or deficiency; correct?

MR. BIRMINGHAM:  That's correct.

MR. POCH:  Fine.  And so, if we wanted to look at the -- in the first year, then, you're losing 100 -- all else being equal, you're losing $141 on that customer -- let me ask another question first.

If we wanted to understand the difference under IR as opposed to cost of service, just from this effect of not being able to rebase immediately, I could basically compare the bottom line there to zero in every year; is that fair?

That is, the bottom line is the difference.

MR. BIRMINGHAM:  To the extent that you're going to ignore all other aspects of the utility's cost of service, and just look at the incremental customer additions over this period, and what the effect is on the company --


MR. POCH:  Yes.

MR. BIRMINGHAM:  -- this is the financial impact if the rates were not going to be adjusted.  I guess the other side of that, which is, I think, what you're asking me is, to the extent that we had cost of service regulation in each of these years, and we are looking to reset rates in each of those years, this would be a contribution to the revenue deficiency that would happen.

MR. POCH:  So, then, just in a sort of apples-and-apples basis, holding everything else equal, over the five years, you're going to lose close to 11 million bucks as compared to what you would have faced under cost of service, just due to the capital additions, and as you say, without making all the changes to all your other assumptions that may well happen in the future.

I'm just adding on the second table the line that has -- starts 3.7.  You just add up those numbers.  I think Mr. Klippenstein may have already done that with you.

MR. BIRMINGHAM:  That's correct.  If those customer attachments were the same for every year of the incentive regulation period, that would roughly be the impact.

MR. POCH:  And if I wanted to understand what the cumulative effect over the five years for your average customer attachment, would I add the bottom line there, the bottom row, sorry?

MR. BIRMINGHAM:  I'm sorry, can you ask me that --

MR. POCH:  If I wanted to understand the what the impact on the company was for the average customer attachment in this scenario that has been constructed here, could I -- would I add the bottom row together to find the compounding effect?

MR. BIRMINGHAM:  No, I think all you can do with the bottom row, which is an average, is to add them up and divide by 5.  What you'll find is the average deficiency per customer attachment over the period, and you'll see that it will work out to kind of roughly the mid-point between the 3.1 and the 140.9, but ...

MR. POCH:  Okay.  So we're somewhere in the $75 range.

MR. BIRMINGHAM:  Roughly.

MR. POCH:  Okay.  All right.  Thank you.

Now, I noticed in 20.5 you've provided another -- a similar set of tables in response to Mr. Klippenstein's request, making some -- including some projections for the way you think the world might unfold post 2008 and thereafter; correct?

MR. BIRMINGHAM:  C20.5 is a response that deals with the forecast customer attachments for 2008, and then assumes that that same level continues through the incentive regulation period.  And it also includes updates compared to the response to Exhibit C20.4 for the net margin, because of the rate increases we had in 2007 and 2008.

MR. POCH:  Okay.  Just stopping you there.  Why does the net margin go down?

MR. BIRMINGHAM:  The net margin on a per-customer basis goes up.  I think if you look at the --

MR. POCH:  Oh, I'm sorry, on a per-customer basis, yes.

MR. BIRMINGHAM:  I think because there is a different number of total customers, you have to look at it on an average basis, Mr. Poch.  So if you took a look at the 2006 number, you would find that on a full year basis it's roughly $345 per customer.  But if you look at it on a full-year basis for the response to Exhibit C20.5, you'll find it's $374 per customer.  So it has gone up as a result of the rate increase from the cost of service hearing in 2007, and then applying the price escalator for the incentive regulation framework for 2008.

MR. POCH:  Where did you derive those numbers from?

MR. SOMMERVILLE:  Which numbers?

MR. POCH:  The 345 and 374, I'm sorry.

MR. BIRMINGHAM:  All I did was I took the net margin on an annualized basis, so for --

MR. POCH:  9.1 in the case of 2006?

MR. BIRMINGHAM:  9.1 in the case of 2006, divided by the total customer attachments, and the same calculation in C20.5; take 8.4 million divided by the number of customers.

MR. POCH:  And you have included in here some projections.  For example, you've shown your operating expenses coming down.  That's just your expectation; is that fair?  That's not hard-wired in?

MR. BIRMINGHAM:  That's correct.

MR. POCH:  Okay.

MR. BIRMINGHAM:  The biggest impact, though, as you'll see, is the change in the utility return that's required.  In the response to Exhibit C20.4, that was based on the allowed rate of return that existed in 2006, which is the 9.62 percent.

In the response to Exhibit C20.5, that's based on the 2007 allowed return, which is the 8.54 percent.

MR. POCH:  Now, that's because you've chosen to express this as an efficiency or a deficiency.  And if I was looking for, as I was, what the dollar impact is on the company, the marginal -- what's in your pocket/what's not, your allowed return has changed.  Your assumed cost of capital has changed, but your real cost of capital may be something entirely different.  This is the formula-driven number, the 9.62 and the 8.54.

MR. BIRMINGHAM:  Our cost of capital is based on the Board's allowed rate of return on equity, Mr. Poch.  I'm not sure --

MR. POCH:  That's okay.  I can leave that.  We don't need to struggle with this here.

Do you see some advantage to the company in being able to pace customer additions, as required, as a result of the IR mechanism?

MR. BIRMINGHAM:  Well, from our perspective, Mr. Poch, if we had to choose a pace, we would get as many customer additions as soon as we can, and that's because the year after those customers are attached, they are immediately accreted to earnings.  They do generate long-term benefit for the company, and they give us marketing opportunities to add additional natural gas applications.

MR. POCH:  Do any senior executives in your company have performance pay based on quarterly or annual company financial performance?

MR. BIRMINGHAM:  All of our senior management has part of their annual incentive pay tied to financial performance.

MR. POCH:  All right.  And when you say "financial performance", is it annual or quarterly; do you know?

MR. BIRMINGHAM:  It is annual.

MR. POCH:  All right.  So in that scenario we talked about where you've had some warm weather, one way that you can improve the financial performance is to curtail the less profitable additions.  Indeed, any of the additions will improve your short-term financial performance, although it may not be in the long-term best interests of the company; is that fair?

MR. BIRMINGHAM:  Well, at the beginning of the year, we will establish a financial target.  To the extent that our revenues are less than we'd anticipated, we have to manage our costs, and those costs can be operating costs or they can be capital costs. 

But as I said in my opening comments, when it comes to the capital for customer additions, those are at the very bottom of the list.  They are really the very last consideration.

MR. POCH:  I heard that, and I guess my question is  simpler.

Faced with, you know, financial performance that's not working out so well, would it not -- achieving forecast or exceeding forecast from the beginning of the year, an executive looking at this, one option to improve financial performance for the year is to delay, defer, cancel some of the customer additions, certainly the least cost-effective ones.

MR. BIRMINGHAM:  I understand your statement, Mr. Poch, but it's not an option for our company.

When you're looking at the financial incentive plan, that really is a short-term plan, so to the extent that we have short-term revenues - that is, one year's worth of revenues - that are lower, we're trying to look at costs that we can manage and reduce over that one-year period.

Taking down customer additions takes out the revenue for the life of those projects --

MR. POCH:  You've made that point.

MR. BIRMINGHAM:  -- and that's just not something that we're going to do.

MR. POCH:  I've heard that point and you've made it a number of times.  I'm just saying it would improve your performance that year, though?

MR. BIRMINGHAM:  It would improve our performance that year.

MR. POCH:  Yes.  

MR. BIRMINGHAM:  But we also have executives and a number of other people in our organization whose incentive payments are tied to achieving the customer attachment numbers.

MR. POCH:  Okay.  I take it the most senior levels are looking at -- it's the overall financial performance of the company that your incentive pay is based on?

MR. BIRMINGHAM:  All of our employees who are involved in our short-term incentive plan have part of their results tied to the company's financial results.

MR. POCH:  Right.  And the most senior employees there, I presume that the dominant indicator for their performance pay is overall company financial -- the higher up the pyramid you are, the more it's going to be the aggregate performance of the company; is that fair?

MR. BIRMINGHAM:  No, typically, it's -- it is in a fairly narrow range, so there isn't a big change in the weighting of financial performance against other performance objectives like safety or results on specific initiatives.

MR. POCH:  Well, if we go right to the top, is the president getting financial performance for customer additions, or is he getting financial performance for company financial performance?

MR. BIRMINGHAM:  Oh, I understand.  The people who have customer attachments tied to their short-term plan are primarily involved in the operation side of the business, because that's who controls the operation side, or the customer attachments.

Same with the marketing group, they will share part of that.  But, you're correct, the president, as an example, would be tied to overall financial performance, not a specific metric on customer attachments, in particular, because customer attachments only represent 2 percent of our customer base.

MR. POCH:  Okay.  I was just going to turn to another point, Mr. Chair.  I don't know when you want to take a break.  I'll be a bit more time.

MR. KAISER:  Okay.  We'll take the morning break, 15 minutes.

--- Recess taken at 11:03 a.m. 

--- On resuming at 11:27 a.m.

MR. KAISER:  Please be seated.  Mr. Poch.

MR. POCH:  Thanks, Mr. Chairman.

Just before I turn to the numbers that I've handed out, Mr. Birmingham, would you agree that the concern that I've expressed to you about the -- about which I heard all your caveats; but would you agree that the concern would be more acute in the early part of a multi-year IR period simply because it's a longer period until you rebase than it would be in the latter years? 

MR. BIRMINGHAM:  No, I disagree.  To the extent that there is a concern, Mr. Poch, the concern is obviously in the individual year when customer additions are made.

MR. POCH:  Okay.

MR. BIRMINGHAM:  After that year, the customer additions become accretive to earnings so it's only in the one year when customer additions are first made that I think your concern arises and there's no difference between the first year and the fifth year in the incentive regulation with respect to that.

MR. POCH:  All right.  That's fine.  Thank you for that.

Mr. Chairman, I've distributed in front of the Panel, you'll have two pages, one with respect with respect to Enbridge and one with respect to Union, labelled such in the upper left-hand corners of them.

These are, and I've managed to leave out the exhibit numbers that they're taken from, but I can assure you that the top half, in each case, is simply the responses that I received from each utility and the bottom half, I've simply done some division, which I'll explain as I take the witness -- the respective witnesses through it.

And perhaps for ease of reference, these could be given an exhibit number?

MR. MILLAR:  Yes.  Unless there's any objections.  We'll give them separate exhibit numbers.  The Union document K2.2, and Mr. Poch, how would you -- what shall we call all this?

MR. POCH:  Information on housing starts versus customer attachments.

MR. MILLAR:  Okay.  And the similar document for Enbridge will be K2.3.

MR. POCH:  And that would be the same title except for Enbridge.

MR. MILLAR:  Thank you.
EXHIBIT NO. K.2.2:  UNION INFORMATION ON HOUSING STARTS VERSUS CUSTOMER ATTACHMENTS DOCUMENT

EXHIBIT NO. K.2.3:  ENBRIDGE INFORMATION ON HOUSING STARTS VERSUS CUSTOMER ATTACHMENTS DOCUMENT


MR. POCH:  Mr. Birmingham, can we agree that housing starts are perhaps the single largest factor that determines what your opportunities are for -– certainly for residential additions?

MR. BIRMINGHAM:  The two largest factors are housing starts and mortgage interest rates.

MR. POCH:  All right.  But presumably mortgage interest rates just helps you forecast housing starts; correct?

MR. BIRMINGHAM:  It does, yes.

MR. POCH:  Right.  The -- all right.

And for small commercial and industrial -- or for any commercial and industrial, housing starts would not be a direct measure, but would you agree it might tell us something about the opportunity to add customers to the extent that both housing starts and commercial and industrial growth are reflections of the growing economy and population, at a macro level?  

MR. BIRMINGHAM:  At a very high level.

MR. POCH:  Sure.

MR. BIRMINGHAM:  I think that's probably true.

MR. POCH:  Now, let's turn to the exhibits that were just handed out.  And I've been just looking for some correlations here, and of course in the case of Enbridge I think you'll agree they are much more dominated by residential load than is Union; correct?

MR. BIRMINGHAM:  That is my understanding.

MR. POCH:  Right.  And so I'll come to the Enbridge --numbers with Enbridge, but basically I've just been looking at the correlation between their -- before between housing starts in their franchise and their customer additions.  But with Union, I was cognizant of the fact that you have this different makeup.

So let's deal with it a little more step by step.

Just on residential customer adds, so that, if you look at the number you provided, just to the left of the boxed in numbers, there's a column "share of Union starts." And am I interpreting that correctly, that that's the percentage of housing starts in the franchise area that you did, in fact, attach?  

MR. BIRMINGHAM:  I just want to make sure we've got the right column here, Mr. Poch.  This is the second column in, so the first column says Ontario?

MR. POCH:  No, sixth.  Did I say second?  I misspoke myself.

Under new build residential, share of Union starts.

MR. BIRMINGHAM:  Yes.  That's right.

MR. POCH:  Okay.  And that's holding pretty steady, around 94, though with a slight declining trend.

MR. BIRMINGHAM:  That's correct.  There's some variation, but it's differently into the mid- to high nineties.

MR. POCH:  Now, there's no similar column there for commercial and industrial, but if we looked at the total attachments, which you have provided in the far right column, and compare that to housing starts, and what I've done here, you'll see in the, in the cluster of numbers in the lower left-hand part of the page, I've compared it to housing starts in Ontario and to -- on the assumption that Ontario housing starts are perhaps the best number we have on this page for a reflection of the overall economy.

And that's -- and I've done the division, I've simply taken your total attachments, compared to Ontario housing starts, and come up with a percentage number.  Do you see that?  Top of the percentage column, 34 and so on?

MR. BIRMINGHAM:  Yes.  As I understand it, you've taken the new single-family customer attachments and the new multi-family attachments for Union Gas, which is under the column called "total attached."  And then created that as a percentage of the total Ontario housing starts.

MR. POCH:  Just to correct you, actually, I think I've captured the total -- unless I misinterpreted it.  I didn't actually do an addition to check.

I assumed your total attachments column in the upper right-hand corner of the page is a sum across that entire row in the boxed area.

MR. BIRMINGHAM:  Yes, it is.

MR. POCH:  Yes, it is.  So it includes the commercial and the small industrial and so on.

MR. BIRMINGHAM:  Yes, that is correct.

MR. POCH:  And so it's that number that I have compared to Ontario housing starts, figuring that's perhaps a more relevant number for -- because we're taking industrial/commercial, it captures some sense of what the economy is doing; and do you see that?  And it in fact comes out as a pretty steady number.  Do you see that?

MR. BIRMINGHAM:  Yes.

MR. POCH:  Now, there's one exception in that stream of numbers, and it seems to be in 2001, for some reason, instead of it's been pretty steady, 34 through going pretty steadily up, 35, 36, 36, 35.  The one notable exception is 2001.  Am I correct that that was the first year of your three-year IRM period?

MR. BIRMINGHAM:  Well, it was the first period, although we hadn't received the Board's decision on what the parameters were, at that point.

MR. POCH:  But you understood you would be in the IRM at that point?  

MR. BIRMINGHAM:  Yes.

MR. POCH:  Okay.

MR. BIRMINGHAM:  But I don't see that as a tie here, Mr. Poch.  I don't know what the difference is.  If I had to speculate, that's all it would be, and my guess is that what you're seeing is much greater growth in the Greater Toronto Area than you do in the rest of Ontario which is -- the rest of Ontario is where our franchise area is.

MR. POCH:  Well, in fact, if we just look at the total attached column, which has nothing to do with the rest of Ontario, it does seem to dip.  It goes to 24,000 then drops to 21 and then goes back up again; correct?

MR. BIRMINGHAM:  Correct.

MR. POCH:  Okay.  Now, Mr. Birmingham, I'm going to be proposing to the Board that we -- as I indicated in my little speech in answer to Mr. Sommerville, that an incentive to -- that has a pivot point.  And I'm going to propose that the pivot point be the attachments that one might project based on the ratio that we've seen between attachments and Ontario housing starts here.  So it would be something like this 35 percent figure going forward.

And would you agree that the price escalator in your formula, in your IRR formula, implicitly assumes that your attachments pattern is going to remain following the trends that it has in recent years?  That is, developing the productivity numbers and so on; it was based on what you've been doing?

MR. BIRMINGHAM:  That's correct.  The productivity study was based on our historical performance, but that includes all forms of productivity.

MR. POCH:  Sure.

MR. BIRMINGHAM:  Yes.

MR. POCH:  And so the rate escalator is intended to hold the company whole in that scenario?

MR. BIRMINGHAM:  Well, to the extent that the productivity study is a key input and consideration to the net escalator, then it would be assuming that that productivity level and a little bit more could be included going forward, yes.

MR. POCH:  So, Mr. Birmingham, I guess I'm wondering if you would agree with the logic that if we were to have an incentive for the company to exceed that assumed state, steady state of additions or trend of additions, it would not be appropriate to give the company incentive from the first addition, because your price escalation formula assumes you're getting those first, you know, 28,000 or 24,000 additions?

MR. BIRMINGHAM:  It doesn't assume specifically that it gets those additions.

MR. POCH:  Okay.

MR. BIRMINGHAM:  It simply assumes that the productivity overall that the company has been able to achieve in the past can be carried forward.

MR. POCH:  All right.  But the basis for the escalation formula was some implicit assumption that things aren't going to change dramatically in that regard?

MR. BIRMINGHAM:  Well, the fact that we add customers on an annual basis was certainly part of the productivity study.

MR. POCH:  So my question was:  If the Board was persuaded to give you a little incentive to push you harder on customer additions, it wouldn't be appropriate to give the company more reward for getting up to historic levels.  It really should be focussed on getting past them; is that fair?  

In other words, you would be double recovering, because the escalation formula already gives the company adequate profit, assuming it was carrying on much as usual?

MR. BIRMINGHAM:  Well, the rate escalation formula is intended to help the company manage its overall business, Mr. Poch, but the difficulty I'm having with your proposition is that either the company already has an incentive to add the customers or it doesn't.

So, in that respect, it depends on what you're trying to achieve.  If you believe the company has no incentive to add customers, then you would do it from the very first customer attachment.

MR. POCH:  Well, you're getting to my second point, but let me just say this.  Even if I believe the company had no incentive, just in terms of giving the company a fair return and not charging ratepayers too much, the premise of my question is the rate -- the price escalation formula makes some assumption that you would have attachments, and if we were to incent you from the first attachment, the company could in effect double recover, and that would be unfair to ratepayers.

MR. BIRMINGHAM:  My problem here is it's the company's overall productivity that's been included there.  So to the extent that you're going to pull out a single factor and say, well, that's already in, I just don't agree with that proposition.  It's not the way that the parameters were established.

MR. POCH:  You would agree, though, that -- well, I think you've already --

MR. BIRMINGHAM:  There's some customer growth included in there, yes.

MR. POCH:  Sure.  Okay.  And if we were to reward you -- not for some customer growth -- yeah, all right, for some customer growth.  If we were to reward you from the first customer attachment -- you know, if the Board were to accept my argument, Gee, you've got less incentive here, so we should reward you from the first customer attachments, one of the concerns would be that that would over-reward the company in the end, because the price escalation already makes some assumption implicit, not an explicit one, but an implicit one, that the company was carrying on with customer attachments; correct?

MR. BIRMINGHAM:  I disagree.  I think if you're going to try to set up that kind of incentive mechanism, you would have to decide what kind of behaviour you're trying to head off.

So you would have to make, in my view, some sort of assessment about what the company might otherwise reduce under incentive regulation and start your incentive payment there.

MR. POCH:  Yes.  Now, I wasn't asking you if this was an optimal design of an incentive.  I certainly would be -- I'm arguing against my interest here by saying, you know, we don't want to give you a positive incentive there over what you're already expected to do.

I'm just saying one of the criticisms of an incentive, if it was designed that way, would be that you would recover too much.

MR. BIRMINGHAM:  Well, in my view, you would recover too much because that type of incentive isn't required.

MR. POCH:  Sure.

MR. BIRMINGHAM:  If there was there was that type of incentive, I can't say one way or the other whether that's over-recovery or not, based on the type of behaviour you think you're trying to incent.

MR. POCH:  All right.  I'm going leave it to argument, Mr. Chairman, rather than beat that dead horse.  It was obviously the inverse of that that I was going to get to.  

And I think those are all my questions.  Thank you, Mr. Chair.

MR. KAISER:  Thank you.  Any other parties wishing to cross-examine this panel?  Any re-examination, Mr. Penny?

MR. PENNY:  No, thank you, Mr. Chairman.  None.

MR. KAISER:  Thank you.  Ms. Newland, do you have a panel?

MS. NEWLAND:  Yes, Mr. Chairman, we do.

MR. KAISER:  Thank you, Mr. Birmingham. 

Can we swear the witnesses?

MS. NEWLAND:  Mr. Ladanyi can be sworn.  Mr. Hoey, I believe, is still under oath.  
ENBRIDGE GAS DISTRIBUTION INC. - PANEL 2


Patrick Hoey, Previously sworn

Tom Ladanyi, Sworn

Examination by Ms. Newland:


MS. NEWLAND:  Mr. Chairman, Board Members, we are presenting this witness panel to testify in support of the settlement of Issue 5.1.  

Seated furthest from you is Mr. Hoey, who is director of regulatory affairs, and seated next to Mr. Hoey is Mr. Tom Ladanyi.  Mr. Ladanyi is manager of budgets and financial analysis.

The settlement of Issue 5.1 is articulated in the settlement agreement at pages 18 to 20, and the evidence that is relevant to the issue is listed on page 21 of the settlement agreement.

Gentlemen, have you got -- could you turn up page 21 of the settlement agreement?

Mr. Hoey and Mr. Ladanyi, was the evidence that is listed on page 21 of the settlement agreement prepared by you or under your direction or control?

MR. HOEY:  Yes, it was.

MR. LADANYI:  Yes, it was.

MS. NEWLAND:  And are the exhibits accurate, to the best of your knowledge and belief?

MR. HOEY:  Yes, they are.

MR. LADANYI:  They are.

MS. NEWLAND:  And do you adopt the evidence as your in evidence this proceeding?

MR. HOEY:  I do.

MR. LADANYI:  I do.

MS. NEWLAND:  Could you turn to page 20 of the settlement agreement?  The position of the parties to the agreement is shown halfway down the page under the heading "Approvals", and in that paragraph it states that:
"GEC will be advancing a proposal for customer attachment incentive."

Are either of you aware of the details of this proposal?

MR. HOEY:  I'm certainly not.  I can't speak for Mr. Ladanyi.

MR. LADANYI:  I'm not aware at all what the proposal is, and in fact we're looking forward to hearing what it is.

MS. NEWLAND:  All right.  Thank you.

And, gentlemen, do you think Enbridge actually needs a customer attachment incentive?

MR. HOEY:  From what I've heard from Mr. Birmingham and the questions that went on, I think at a very high theoretical level, there may be some perception that as we move to incentive regulation, that you have less incentive to attach customers.  In Enbridge's specific case, though, we think the reality is that, given the incentive model that we have achieved with the parties, is that there won't be any less incentive than we had before.

And it's for very [sic] two specific reasons.

First off, the model itself is a revenue cap per customer model.  So we get additional revenues when we add new customers every year, and that was a feature of the model that we thought was important, to ensure that we're continued to incent that for our attachments.

The second thing from a capital rationing perspective is, one of the concerns that we had was that large power plants located in our franchise area, they're very expensive to build.  They eat up a lot of capital and, to a certain extent, they come in very lumpy situations and then that could potentially constrain your capital with any one particular year.

The parties have agreed that we could have a Y factor on that, so therefore we don't have any capital constraints affecting us from that perspective.  So it would only be the normal business capital constraints and we don't see that that would be an issue.

We don't see those to be an issue.  I think Mr. Birmingham outlined a number of them.  Our evidence or what we know right now is that the potential for new communities in our franchise area, we believe we have maybe one over the next five years to do, that we can see, to move forward.

Also, in terms of capital constraints, if there were any, a customer attachment capital is one of the priority items.  It comes just above or just below, depending on how you start up with it, safety and integrity of the current system is our number one priority.  And then we wanted to focus on getting our customer attachments after that.

Like Union, we understand that the opportunity to attach a customer to a certain extent comes along once a decade, so if they choose an alternate fuel, it's very, very hard to get them back on to natural gas, and we've lost an opportunity that we don't want to lose.

Secondly -- or as well, we have franchise agreements in our communities and in the GTA specifically, if we were saying we weren't attaching customers, I'm pretty sure that the communities we're dealing with would have something to say about the franchise agreements that they've granted us in our -- in those areas.

As well, I think for those that live in Toronto, you've heard the promotions that we have on the radio now of promoting natural gas.  It would be somewhat hypocritical to promote natural gas and then not attach customers.

And I think finally, what Mr. Birmingham said was, it's part of our core business.  And so when we think it's a core business, we have a number of stakeholders that we believe are responsible in terms of adding customers.  And they range not only from the board and its expectations, the communities as I mentioned, they expect us to be there to attach customers.  Clearly the customers believe we should be there to attach them.

But equally, our investors come back and ask us what does our growth curve look like, and are we going to continue to attach customers?  So they have an equal interest that we continue to grow as a company, and that's the way we grow.

So it's well balanced all the way through, through the whole system, that we continue to grow with attachments.

And that's it.

MS. NEWLAND:  Thank you, Mr. Hoey.

The panel is available for cross-examination.

MR. KAISER:  Thank you.  Mr. Klippenstein.
Cross-examination by Mr. Klippenstein:


MR. KLIPPENSTEIN:  Thank you, Mr. Chair. 

Morning, members of the panel.

MR. HOEY:  Morning.

MR. LADANYI:  Morning.

MR. KLIPPENSTEIN:  I believe you were provided with a copy of the Pollution Probe cross-examination reference book, Exhibit K2.1, or you may have one available.  Do you need another copy there?

MR. HOEY:  No, we have copies.

MR. KLIPPENSTEIN:  And I went through some questions with Mr. Birmingham.  I went through some questions with Mr. Birmingham and you may have heard them.  I will try and not take too much time with some of the initial ones but I do want to quickly go through them to make sure that -- if there's any difference in your views on those points, that  I am aware of them.

First of all, if you could turn to tab 1 of the Pollution Probe reference book.  And there's the excerpt from the Ontario Energy Board Act, section 2, that states that:
"One of the Board's objectives is to facilitate rational expansion of transmission and distribution systems."
Do you see that?

MR. HOEY:  Yes, we do.

MR. KLIPPENSTEIN:  And I assume you accept that as being generally applicable in this situation here?

MR. HOEY:  Absolutely.

MR. KLIPPENSTEIN:  And on tab 2, I'd included a natural gas natural -- a couple of pages from the Natural Gas Regulation of Ontario, A Renewed Policy Framework report, of the Board.

And it lists the three criteria for the gas regulation framework, including:
"Create an environment that is conducive to the investment to the benefit of both customers and shareholders."
Do you see that?

MR. HOEY:  Yes, I do.

MR. KLIPPENSTEIN:  And I take it you understand that as generally applicable in this situation?

MR. HOEY:  Yes, it's specific -- those objectives are specifically contained in our settlement agreement at page 7.

MR. KLIPPENSTEIN:  Thank you.  Then at page 3 of the document reference book, I've included a couple of pages from the EBO-188 report of the Board, and I'll just assume you're familiar with paragraphs 2.2.5 and 2.2.6, and if you need to have a moment to go through those, feel free.  But my understanding, and tell me if you agree, that in 2.2.5, the Board found that an overall profitability index or PI, of 1.0 for a utility's portfolio of system expansion projects will ensure that existing customers will not suffer a rate increase over the long-term as a result of distribution system expansion.  Is that fair?

MR. HOEY:  That's what it says.

MR. KLIPPENSTEIN:  And in paragraph 2.2.5, the Board also found that an overall PI of 1.0 or better for a utility's portfolio of system expansion projects is in the public interest.  Is that fair?

MR. LADANYI:  That's what it says, yes. 

MR. KLIPPENSTEIN:  And in 2.2.6, the Board noted that for most projects, the revenues in the early years are less than their costs; is that fair?

MR. LADANYI:  That's what it says here as well.

MR. KLIPPENSTEIN:  And do you disagree with that?

MR. LADANYI:  No, I don't.

MR. KLIPPENSTEIN:  And that would mean that the revenues are not sufficient to provide the utility with a fair rate of return on the equity capital that it has invested to hook up the new customers for those early years; is that fair?

MR. LADANYI:  If it's looked at in isolation only.

MR. KLIPPENSTEIN:  Yeah.  And the result is that under traditional cost of service regulation, the rates of the utility's existing customers are raised to ensure that the utility's overall ran on equity capital will equal it's Board-approved fair rate of return on equity; is that fair?

MR. LADANYI:  Again, in cost of service regulation, there are many factors that impact overall rate increase, and some of them would essentially drive rates down; others would increase the rates.  This might be one factor that is causing a rate increase; others might cause a rate decrease.


One has to keep in mind that in a particular year's portfolio should not be looked on in isolation.  What you have to look at is essentially portfolios from previous years.  And they will actually be in a sufficiency position at that time, and they will, more often than not, offset the deficiency created by the current year's portfolio.

MR. KLIPPENSTEIN:  Fair enough, but what I was interested in was the isolation and direction of this particular principle, and you've mentioned some contextual factors.  Let me separate those contextual factors out, if you --

MR. LADANYI:  Yeah, if you ignore all the effects, yes, you would be correct.

MR. KLIPPENSTEIN:  Okay.  I should have just said that at the beginning.  Context is important.

And over the life cycle of a project, the net impact of a project with a PI of 1.0 or better would be to lower Enbridge's rates; is that correct?

MR. LADANYI:  If it's 1.0, I think, as Mr. Birmingham pointed out this morning, it would essentially -- it would be a break-even point, and it would create no impact on existing customers.

I think one of the issues in utility finance and rate-making always is the level of cross-subsidy at any particular time from existing customers to new customers.  And boards of -- conditions across, if you want, the regulatory world struggle with this decision continuously.  And in EBO-188, Board set the appropriate mechanism to ensure there is no undue cross-subsidy from existing customers to new customers.

MR. KLIPPENSTEIN:  Correct.  And thank you for that small correction.  But including that, if a project has a PI of greater than 1.0, then over its life cycle its effect will be to lower Enbridge's rates; is that fair?

MR. LADANYI:  Its effect on that particular project would be to have a -- to lower rates, yes.

MR. KLIPPENSTEIN:  But it's part of a portfolio.  The overall net impact globally of that particular project, since it has a PI of greater than 1.0, will, at the end of the day, be to lower Enbridge's rates; fair enough?

MR. LADANYI:  All things being equal.

MR. POCH:  Yes.  Thank you.  And, therefore, projects which have a PI of greater than 1.0 are in the long run financial best interests of both existing and new customers; is that fair?

MR. LADANYI:  Yes, and I think if you know EBO-188 -- I was one of the people involved in it, and I think some of the other people in the room were, as well.  The idea there was that there would be cross-subsidy between projects in a portfolio, and projects with a PI of less than 1.0, essentially being cross-subsidized by projects with a profitability index greater than 1.0.  And on an overall basis, the overall portfolio would be at 1.1, actually.  That's what's in the guidelines, not 1.0, within the same year.

MR. KLIPPENSTEIN:  Thank you.  But it doesn't specify that level as -- that's the minimum as opposed to a fixed or a cap?

MR. LADANYI:  EBO-188 is a guideline, and essentially it sets the guideline for the utilities to follow in Ontario.

MR. KLIPPENSTEIN:  Just to -- you've raised a couple of issues.  Let's go back to tab 3 at paragraph 2.2.5, and I've underlined two sentences, and the last sentence is the paragraph:

"The Board is therefore of the view that an overall portfolio PI of 1.0 or better is in the public interest."


Now, that's the Board's position; right?

MR. LADANYI:  I agree with it.  That's what it says on this page.

MR. KLIPPENSTEIN:  And to the best of your knowledge, that is, in fact, the policy direction from the Board that's still in place; fair?

MR. LADANYI:  Yes, it is.

MR. KLIPPENSTEIN:  Thank you.  Then back to tab 1, if you will, of the Pollution Probe reference book.  And I'd just like to identify for your attention another of the statutory objectives of the Board, and that's (5), which says:
"To promote energy conservation and energy efficiency in a manner consistent with the policies of the Government of Ontario."

You see that?

MR. HOEY:  Yes, I do.

MR. KLIPPENSTEIN:  And I assume you agree that's acceptable, generally, to this situation?

MR. HOEY:  That's correct.

MR. KLIPPENSTEIN:  And at tab 4, we've included the June 13th, 2006 Directive from the Government of Ontario to the Ontario Power Authority regarding the Integrated Power System Plan.  And I take it you can see that the first sentence in the first directive is that:
"The plan should include energy conservation programs to reduce the demand for electricity by 6330 MWs."

Do you see that?

MR. HOEY:  Yes, I do.

MR. KLIPPENSTEIN:  And just taking this step by step, it also includes:
"The plan should assume conservation includes fuel switching."

Do you see that?

MR. HOEY:  Yes, I do.

MR. KLIPPENSTEIN:  And would you agree with me, therefore, that the Government of Ontario has endorsed end-use fuel switching from electricity to natural gas as a means to achieve its electricity energy conservation goals; is that fair?

MR. HOEY:  I would agree that the government policy is for fuel switching and that it would include natural gas from -- moving from electricity to natural gas.  I just didn't want to say that it should all be towards natural gas.

MR. KLIPPENSTEIN:  Okay, thank you.  And at tab 5, we've included an excerpt from the OPA's IPSP, and it lists the directive priority and one that's listed first there is:

"Maximize feasible cost-effective energy distribution from energy efficiency, demand management, fuel switching and customer-based generation or conservation."

See that?

MR. HOEY:  Yes, I do.

MR. KLIPPENSTEIN:  And would you agree that, in general, that priority directive is applicable to this situation, as well?

MR. HOEY:  To what -- sorry, I'm just missing the context.  Of what situation?

MR. KLIPPENSTEIN:  Well, to -- as a discussion of what the government's policy is in relation to fuel switching.

MR. HOEY:  Yes, I would agree.

MR. KLIPPENSTEIN:  Then if you could turn to tab 7 of the Pollution Probe document book, a place that includes some interrogatory answers.  And the second page, at tab 7, contains supplementary Interrogatory No. 5.  Do you see that?

MR. HOEY:  Yes.

MR. KLIPPENSTEIN:  This asked Enbridge to calculate the revenue deficiency associated with its year 2006 new customer additions; is that right?

MR. HOEY:  Yes.

MR. POCH:  And at the second page, we have a table of answers, and if I go to the bottom of that table, it appears to me that the first year's revenue deficiency was 1.351 million; is that correct?

MR. HOEY:  That's correct.

MR. KLIPPENSTEIN:  And then the second- and third- and fourth-year revenue deficiencies were estimated to be 1.591 million, 1.051 million and 0.507 million; is that right?

MR. HOEY:  That is correct.

MR. KLIPPENSTEIN:  By the fifth year, there would be a slight revenue sufficiency of $42,000; is that correct?

MR. HOEY:  That's correct.

MR. KLIPPENSTEIN:  And so over that five-year period, the net revenue deficiency for those 2006 new customer additions would be, as estimated, 4.458 million; is that fair?

MR. HOEY:  That's correct, for that group of customers.

MR. KLIPPENSTEIN:  Thank you.  Now, if you could turn the page to Pollution Probe's supplemental Interrogatory No. 6.


And we may have a little bit of a problem here, because I don't believe we've received answers to this yet and so I'm going to see what I can do, but let's take this step by step.

We've asked in that interrogatory for you to assume Board approval of the settlement agreement, and then to provide a breakout of the forecasted revenue deficiencies associated with the forecast 2008 new customer additions, not including power projects, for each of those five years.  Then we add some breakout categories we've requested.

Now, if I go back a step, turn back I think three pages to the first page of tab 7 of the document book, I see a table with a column 2 that's headed "Forecast For 2008", and I see under a line called "total gross customer additions", the number of 44,534.  Do you see that?

MR. HOEY:  Yes, I do.

MR. KLIPPENSTEIN:  Now, is that part of the answer I've asked for in Interrogatory No. 6, or is there an adjustment that would need to be made for power projects, for example?

MR. HOEY:  No, I don't believe so.

MR. KLIPPENSTEIN:  So if I take that 44,534, and go back to Interrogatory No. 6, I wonder if you either have or could provide to me or could undertake to provide to me the revenue deficiencies that are forecasted for those 2008 new customer additions for the years provided.  They weren't specified.

MR. HOEY:  Mr. --

MR. KLIPPENSTEIN:  I'm reluctant to have to request the information in an undertaking, but I've been trying to figure out how I can fairly and reasonably make my point in my argument without those numbers, and I'm not sure I see a way.  I may be --

MR. KAISER:  Do you have the information, Mr. Hoey?

MR. HOEY:  We don't have the information.  We haven't run the information.  But we could say that the answer that was given in the prior answer on schedule 5 attachment 1 -- sorry.  Schedule 5, page 1, plus the attachment, the attachment is the one that we just talked about, it would be very similar in terms of pattern, with that.

MR. KAISER:  That's the one that had the negative 4.458 of the period?

MR. HOEY:  Yeah.

MR. SOMMERVILLE:  Is the precision of the number necessary for your purpose, Mr. Klippenstein?

MR. KLIPPENSTEIN:  To some degree it is, because there -- it's probably a matter of degree, because we are interested in the forecast numbers and effects before the incentive situation and during.  It's obviously somewhat controversial.  We've had, I think, both witnesses, Mr. Birmingham and Mr. Hoey, talk about reasons why maybe, you know, supposedly Pollution Probe's concerns are not valid.

So it is a matter of some issue, and I -- without having the numbers, I can't see the magnitude.

MR. SOMMERVILLE:  Mr. Hoey has just indicated to you that in his estimation, his testimony under oath is that it's similar.  It's in the same neighbourhood.  I think I took your answer to be --

MR. HOEY:  Yes.

MR. SOMMERVILLE:  To that effect, Mr. Hoey.

Does that satisfy the interests that you have?

MR. KLIPPENSTEIN:  The problem I have is on the one hand, he's saying they don't have the numbers, on the other hand, he's saying they're similar.  I don't doubt his knowledge and impression, but I'm just worried to that to make an important point without a factual basis -- that may end up helping me or hurting me, I don't know, but I'm reluctant to do that.

MR. KAISER:  Mr. Hoey, I understand that the number of customers that you might be adding in any different year will vary, as we see.  But the average loss per customer - and of course that diminishes over the time - may end up being positive by year five.  Is that average deficiency per customer more or less the same year after year?

MR. HOEY:  It would be more or less the same year over year.  It would vary slightly from year to year --

MR. KAISER:  We know it declines; it declines over the five-year period and possibly gets positive in year five.

MR. HOEY:  Sure.

MR. KAISER:  But the number's roughly the same for every batch of customers that come along.

MR. HOEY:  Yes.

MR. KAISER:  Does that help you?  Can you work with that assumption?

MR. KLIPPENSTEIN:  I'm just...

MR. KAISER:  Because you can calculate that average based upon the material that we have.

MR. KLIPPENSTEIN:  Yeah.  Could I have a moment's indulgence to do that, if I may?

[Counsel confer]

MR. KAISER:  While Mr. Klippenstein's going through his papers, all of this discussion to this point has been on year one to year five, and you more or less get to break even at year five, give or take.

What's the average life of a customer that you use?

MR. HOEY:  Forty.

MR. LADANYI:  Well, actually, our studies show that the average life of a customer is 75 years, in that range, although depreciation rates are such that we are recovering it over 40 years but it indicated it's much longer than that.

MR. KAISER:  And if we did this for 40 years as opposed to five years, what does the number look like at the end of the 40-year period?

MR. HOEY:  Then you would get, if you look at the responses to, on tab 9, schedule 8, page 101, which is in our Supplemental I No. 8, that's where your profitability index, it starts to look like those numbers.  That's based on a 40-year revenue coming in.  So that tells you that there is a revenue sufficiency in total for the project over the 40 years.

MS. NEWLAND:  It's page 23 of the cross-examination booklet, Mr. Hoey.

MR. HOEY:  Yeah.  Sorry.

MR. KAISER:  Thank you.

MR. KLIPPENSTEIN:  Mr. Chair, I can try and move on and see how far I can get.

MR. KAISER:  Sure.

MR. KLIPPENSTEIN:  Members of the panel, I take it you would agree that in any given year under the EBO-188 portfolio system that you are using, new customer additions can vary in their PI; they don't all have the same PI.  Is that fair?

MR. LADANYI:  Right.

MR. HOEY:  That's fair.

MR. KLIPPENSTEIN:  Do you have some idea of how much they vary?  Do you sometimes get PIs of three or four or five for individual customer additions?

MR. LADANYI:  I would say probably not that high.  I believe that they are in the range about 2, 2.5 or so would be about the highest, for large subdivisions, let's say in north Brampton or in Markham.

MR. KLIPPENSTEIN:  Okay.  And would you agree that it's logically the case that Enbridge could reduce its first-year system expansion revenue deficiency by reducing the number of new customer additions which have relatively low PIs?

MR. LADANYI:  In theory, yes.  But maybe I should point out something, that under incentive regulation, if a utility is short of revenues, it would be the very last thing you would want to do is cut a revenue-producing capital investment.  You certainly would want to cut operating, maintenance costs first, and then non-revenue-producing capital.  Really, the very last thing you would want to do is cut something that brings in dollars.

MR. KLIPPENSTEIN:  Right.

MR. HOEY:  And even more importantly, with the revenue cap per customer, cutting any customer additions would also reduce us by an average $400 every year too, so we really don't have any incentive to do that.

MR. KLIPPENSTEIN:  Would you agree that since the projects we've been talking about, and probably all of them, in the first year or years since they have a revenue deficiency, there is, by definition, the possibility of Enbridge reducing its revenue deficiency in those years, up front, by reducing new customer addition which have relatively low PIs?

MR. HOEY:  I think Mr. Ladanyi indicated probably, if we have a revenue deficiency on those particular projects, it would actually make more sense for us to either reduce O&M or reduce capital that generates no revenue at all, and use -- and do that as your cut, and still add the customer, in any event.

And that's probably -- and that's typically what we've done in the past, anyways, and, especially under the model we have, that's certainly what we would be focussing on now.

MR. LADANYI:  One way to look another our business is it's like having an orchard.  You know, you really have to have first few years whereby you're not going to get a lot of fruit in the orchard, but you cannot get past that.  You can't go straight to year five with a great big crop.  You're going to have a few years whereby you're not going to get that many apples from the apple tree.  And it's exactly similar to that.


So we can't somehow be killing our own business by foregoing investment in new customer attachment projects.

MR. KLIPPENSTEIN:  I'm not talking about killing your business or anything like that.  I think it's -- my question relates to matters of degree and matters of time period.

You've used the orchard analogy.  Taking into consideration everything you said, it is still true, in principle, is it not, that Enbridge could reduce its first-year system expansion revenue deficiency by reducing the number of new customer additions which have relatively low PIs?  That's true by -- standing by itself; isn't that fair?

MR. HOEY:  In theory, you are correct, that that's what you would do.  From a practical management point of view, that's not what you would do.

MR. LADANYI:  Also, Mr. Klippenstein, if I can add, by your questions, I'm not sure that you completely understand our revenue cap per customer model.

MR. KLIPPENSTEIN:  I'm sure I don't.

MR. LADANYI:  And in our revenue cap per customer, there's an actually incremental incentive for adding customers, so there would be absolutely no incentive for us to curtail customer additions.  I really don't see the logic of the questions you are asking.

MR. KLIPPENSTEIN:  Well, maybe you can just explain to me in more detail what you mean.  We've just a few minutes ago observed that the first five years of your 2006 attachments have a net revenue deficiency of 4.4 million, approximately.  And can you explain to me, on the assumption that that type of deficiency structure would apply to 2008 additions, why it would not be a disincentive?

MR. HOEY:  Well, I think you first have to start with the model that we have, and if you would turn to page 9 of Exhibit N1, which is the settlement agreement, you can see the formula that we are using to adjust revenues each year.


I'll give people a couple of minutes.  

And to help people out, I think it would be good to at the same time, with the same document, put a finger on page 48, which is the first page of appendix C.

If everyone's there.  The formula, which is on page 9, it talks about "the distribution revenue requirement is equal to", and then it -- in the brackets, it is the prior year's distribution revenue requirement minus the Y factors and any Z factors, divided by the number of customers, so that you get a revenue per customer.

And it's that number that you multiply by the escalator, which is the inflation adjustment, and then you times it by the new forecasted total number of customers.

So to see that in terms of a mathematical calculation, if you would now turn to page 48, if you look at line 11, that is the net distribution revenue requirement after you've taken away all the Y factors and Z factors.  Then you'll divide by line 12, which is the average number of customers at the beginning, and that gives you $413 of revenue.

Then you escalate that to get to $418.18, which is on line 17, and then you multiply by the new number of customers for the upcoming year.

So for each additional customer -- and that includes your new additions.  So for each additional customer, we're going to get $418 of additional revenue coming in the door from this, which we hope will effectively compensate us for all the costs. 

So we're not exactly -- we would say that the worst-case scenario is the deficiency that was achieved under cost of service, but it may actually shrink with this type of formula, too, as well.

And that's why we don't -- the formula provides us with an incentive to add the next customer.  So if we don't add a customer, in 2008 we'd be short $418.18 of total revenue that we would get from the model, and then of course we'd be short of the actual sale that actually comes through the rates.  

That would determine the rates, and that would determine -- you would lose that revenue from a rates perspective, as well.

So this model does incent us to add customers.

MR. KLIPPENSTEIN:  And so you say it incents you to add customers because of the calculation of the 418 plus the revenue from the -- plus what other revenue?

MR. HOEY:  There's no plus other revenue.  That would then set up the rates.  That sets up our total revenue for the year, and then from there you would get rates, and then the actual customer would only pay you what they pay in rates to you.

But, in effect, we've got an average revenue from an average customer up front -- in the next year.

MR. KLIPPENSTEIN:  And if there is a new customer attachment with a higher than average -- let me rephrase that.

What is the relationship between the $418 that you mentioned and the PI of that customer attachment?  Can the -- specifically, because PIs vary from attachment to attachment.

MR. HOEY:  The $418 does not relate to PI, because the PI would be calculated on the rates that would be actually -- what is the revenues that are going to come through the rate schedules for the customer?

And that would be based upon a blend of how many customers are going to have furnaces, how many customers are furnaces-onlys versus furnaces plus water heaters, plus customers who come through with furnaces, water heaters and other appliances.

So it's based on total volume that you're coming through from that particular subdivision, on average.  So...

MR. KLIPPENSTEIN:  Is it the case, using the formula that you just gave me, that from a revenue point of view, new customer attachments with different PIs have differing advantage or disadvantage to the company?  

MR. HOEY:  I would say no more so than under cost of service.

MR. KLIPPENSTEIN:  But there is some difference?

MR. HOEY:  I don't know.

MR. KLIPPENSTEIN:  Well, we've explored a bit under cost of service regulation that although there's a portfolio approach, within that portfolio there's varying PIs for different customer additions; correct?

MR. HOEY:  Correct.

MR. KLIPPENSTEIN:  And it would continue to be the case now that different customer additions have a different PI under incentive regulation; is that right?  

MR. HOEY:  Correct.

MR. KLIPPENSTEIN:  And are you telling me that the formula you just showed me means that those varying PI projects have the same effect, financially?

MR. HOEY:  In terms of the revenue -- quote/unquote, revenue deficiency?

MR. KLIPPENSTEIN:  Yes.

MR. HOEY:  No one has done any detailed calculation to even figure this out yet.  We were trying to get the thing approved first, knowing what we had in the rules, and then we would start figuring out the details of it.

But from our understanding is that it's the revenue -- if there's any revenue deficiency, it's no greater than what was under cost of service, and it might even be less under this model.

MR. LADANYI:  Our objective was to design a model that would maintain the same level of incentive for customer attachment that existed under cost of service.  And we believe we have achieved this in the model design and also in the settlement agreement.

MR. KLIPPENSTEIN:  You said, Mr. Hoey, you hadn't done any detailed calculations, but I take it from logic and first principles, from what you've said, that it is still the case that customer attachments with differing PIs have a different revenue impact, despite the new formula?

MR. HOEY:  Correct.

MR. KLIPPENSTEIN:  And so you can't tell me that there will be no revenue effect if the company -- let me rephrase that.  I don't want to get into double negatives.

Put it this way.  There will be a revenue effect, in theory, if the company did relatively fewer low-PI new customer attachments?

MR. HOEY:  Relative -- sorry.  Relative to what?

MR. KLIPPENSTEIN:  Okay.  Let me try and make that a little more clear.

If the company had two scenarios in front of it under this present formula, one a package of customer additions with a PI average of 2, and the other one with an average PI for the package of 1.5, those two packages would have different revenue impact on the company; is that right?

MR. HOEY:  Right.

MR. KLIPPENSTEIN:  Correct.  And from the company's point of view, would there be a better revenue situation from the higher of those two packages, higher PI of those two packages?

MR. HOEY:  Correct.

MR. KLIPPENSTEIN:  Now, as I've mentioned and as you've heard earlier this morning, it's Pollution Probe's probable submission that Enbridge's shareholders should not be financially penalized or worse off for attaching new customers as long as the PI of its portfolio of new customer additions is 1.0 or greater.

And Pollution Probe will probably be suggesting that this objective could be achieved by making the revenue deficiency associated with all new customer additions a Y factor.  And that would mean that during each year Enbridge could raise its rates to recover the revenue deficiency associated with its new customer additions.

Given the statutory mandate and government policy favouring fuel-switching that we just reviewed, are there any reasons why Pollution Probe's proposal would be contrary to the public interest?

MR. HOEY:  Well, the only reason I could think it would be contrary is that that would increase rates higher than maybe what they otherwise would need to be, and therefore would be contrary to all the current ratepayers' interests.


And the reason why I say it's higher than what it would need to be is because we believe our model would make us do exactly what we were doing before, if not more.  And so there is nothing different on the margin.  There's no difference on the margin.

MR. KLIPPENSTEIN:  Okay.  Could you explain in more detail why you say the proposal I just mentioned would raise rates, in --

MR. HOEY:  Well, if there is a revenue deficiency within the year for customer attachments specifically, then that would mean that you would be coming back to the Board asking for a Y adjustment for that additional revenue each year.

Yet other parts of the company may -- may be generating, through productivity, additional savings or whatever, and therefore the rate of return that the company needs overall is already being achieved without that adjustment in rates.  So therefore rates are higher than what it otherwise need be.

MR. KLIPPENSTEIN:  Switching to a different perspective for that same proposal, though, is the proposal that I just mentioned prejudicial to Enbridge's shareholder?

MR. HOEY:  No, it's not, from a purely financial perspective.

MR. KLIPPENSTEIN:  I don't think I have any more questions.  Thank you, members of the witness panel.  Thank you, Mr. Chair.

MR. KAISER:  Thank you, sir.  Mr. Poch.

MR. POCH:  Yeah, I think I can wrap this up in time for lunch, Mr. Chair.
Cross-examination by Mr. Poch:

MR. POCH:  I just gave the panel a copy of the GEC Supplemental Interrogatory No. 6, and I had extra copies if the others don't happen to have them handy.

I'll come to that in a minute.

Mr. Hoey, just following on the last of Mr. Klippenstein's cross-examination, GEC, as you will have heard, has a different proposal than Pollution Probe.  We're not proposing that some revenue deficiency simply flow through.  We're just proposing an incentive that pivots around an expected number of customer additions that's tied to housing starts in your franchise.  We'll get to that in a minute.

And it gives you a little sweetener to overcome any added disincentive that multi-year incentive-based regulation does, gives you, for capital investments.
  And, I should say, is symmetrical and gives the customers compensation should you not perform to that expectation, okay?  So I just wanted to lay that out for you, since you indicated you hadn't had any previous notice of the specifics.

So, Mr. Hoey, in answer to that question you gave to Mr. Klippenstein about whether there is any public-interest concern with his proposal, let me ask you about that with mine.

If you perform -- let me preface it this way.

If you perform in the pattern you have, if your additions are roughly the same relative to housing starts as they've been of late, under the formulation that I'm proposing, can we agree there would be no change from the rates and to the company from -- in terms of revenues, relative to the settlement agreement proposal?

MR. HOEY:  If I understand your question, as you're saying, if we hit the target line of your incentive thing every year, then there would be no impact on rates.  And I would agree with you; but then of course I would ask you, why would we have the incentive, if that's what we were going to be doing in the first place?

MR. POCH:  Sure.  Sure.  And is it your evidence that in effect, your best guess is you are going to do that anyway, so we don't need an incentive to achieve?

MR. HOEY:  There's that, and then, secondly, if there is any variance, it's going to be very minor.  And given that, we will have to create some kind of tracking mechanism to prove either we're on the line, above the line or below the line, and then we'll have to have some process for that to be cleared in this regulatory forum.  And, in the end, based upon other things I've seen here, that will be controversial at some point in time.

MR. POCH:  Mr. Hoey, I'm just suggesting all you have to do is report on your customer additions and report on what the housing starts were.  Those are two numbers that you're already tracking, aren't you?

MR. HOEY:  But if either we are being penalized or whether we are asking for an additional collection from customers, I guarantee you that will be controversial from one side or the other.

Then the third piece is from a public interest perspective.  In terms of the penalty that you've introduced, you would -- there would be a compensation back to customers who were on the system.  Yet the truly disadvantaged person, if we didn't meet the target, is the customer who never got on the system in the first place.

So, to a certain extent, the right person who has been penalized isn't being compensated.

MR. POCH:  Well, Mr. Hoey, I think you already agreed with Mr. Klippenstein that if you had customer additions that exceed 1.0 profitability index, all customers benefit by that addition; correct?

MR. HOEY:  I understand that, yes.

MR. POCH:  And foregoing that addition, all customers would suffer relative to the case where you made the addition?


MR. HOEY:  Well, no, what I was saying --

MR. POCH:  Answer my question.

MR. HOEY:  If the incentive was -- if the incentive is that if we don't attach a customer - assume it's just one that we miss the target by - then there would be a penalty that we would pay to all the customers who were on the system.

MR. POCH:  I understand.

MR. HOEY:  But the real person who's disadvantaged is the one who never got on the system in the first place.

MR. POCH:  Those other customers already on the system are disadvantaged, too, are they not, because, in the long run, if it was a profitable attachment, it was going to lower everybody's rates?

MR. HOEY:  Correct.  But then, of course, why would we not attach someone who's profitable?  

MR. POCH:  Well, that's the core of the issue here.  Now, I think you agreed your first premise was you're predicting you're going to follow the expected pattern.  You don't need an incentive to do that, that the deal is good enough to make you want to do that; correct?

MR. HOEY:  Correct.

MR. POCH:  And the deal gives the utility an adequate return -- you're satisfied it gives you a good enough return that you're ready to sign on the dotted line with that presumption?

MR. HOEY:  We believe with an appropriate amount of work, yes, we will get an adequate return.

MR. POCH:  Right.  So if you don't make the customer addition, isn't it fair that you shouldn't -- the deal would still give you the same escalation, and that would be a little unfair to customers, existing --

MR. HOEY:  No, actually, it wouldn't.  It corrects itself every year, because every year we would put in a new forecast.

MR. LADANYI:  The SS -- I said previously to Mr.  Klippenstein, again, I'm not sure that you completely understand the revenue cap per customer model and the incentive that it has for customer additions.  So are you sure that you completely understand this?  Should we take you through it again to explain that we actually have an incentive to add customers that's already built in, in the settlement proposal?

MR. POCH:  That's where I was going to take you next, Mr. Ladanyi, because I did listen carefully to your explanation and I looked at the formula.  Correct me if I am wrong:  The key distinction between the revenue cap per customer and -- let me put it this way.

Mr. Birmingham, when he adds the extra customer, he's going to get the margin on that customer times his price cap, based on his price cap.  He's got another customer.  He's got added revenue and he's got added costs to serve that customer; correct?

MR. HOEY:  Yes.

MR. POCH:  And you do, too, under your formula.  Your formula lets you charge that customer; and you have added costs for that customer.  That's true, certainly?

MR. HOEY:  Correct.

MR. POCH:  Right.  And the one nice thing about your formula for you is if you have some problem like declining load for -- per customer, it lets you keep yourself whole by keeping your revenue per customer whole.  That's really what the key distinction between a revenue cap per customer and a price cap is; correct?

MR. HOEY:  No, that's the key distinction between a revenue cap model and a price cap model.

MR. POCH:  Yes.

MR. HOEY:  Not the distinction between a revenue cap per customer model.  A revenue cap per customer model does two things.  It takes into consideration the volume variance, but it also takes into consideration an incentive to add customers to the system.  So it has two elements to it versus a revenue -- it has one additional element over a revenue cap, which only compensates for volume variance.

MR. POCH:  You're going to have to take me to it, because I didn't see any other added incentive.

MR. HOEY:  Because -- I'll take you through the -- if we look at page 48 --

MR. POCH:  Yes.

MR. HOEY:  -- of 62.  If we look at line 12, the number of -- total number of customers, 1823258.  It then derives an average amount of $413.14.  That is then escalated to $418.18, but it is then multiplied by the new forecast customer numbers.  So that's 1864047.  

So if you reduce the number of customers, that number -- in the forecast, that number goes down and you would lose that much.  You would lose $418.18 for every customer you are not predicting to attach.

MR. POCH:  Sure, and Union Gas loses its margin on every customer it doesn't attach.

MR. HOEY:  No, their model only escalates on their current rates.

MR. POCH:  I understand that, but --

MR. HOEY:  This model adjusts for adding additional customers.  It's built into the rates.  The rates start to recover it.

MR. POCH:  Sure, you have additional customer and the rates will let you -- you'll be allowed to collect from that additional customer, and whatever your revenue requirement is, it goes up by the number of customers and you get to collect it over this new number of customers.  That's what you're saying?

MR. HOEY:  Correct.

MR. POCH:  Okay.

MR. HOEY:  Plus, it's escalating.

MR. POCH:  Of course it's escalating.  You have additional costs when you add additional customers.  The 418 doesn't go to your bottom line?

MR. HOEY:  No.  It goes -- it's just total revenue.

MR. POCH:  Right.

MR. LADANYI:  To cover off depreciation and all the other costs associated with the new customer.

MR. POCH:  All the costs you have to add to your call centre, or whatever it may be.  But you're not getting $418 extra profit for every customer you add?

MR. HOEY:  No, we didn't say that.  We said revenue.

MR. POCH:  Right.  Well, I may be missing something, but I don't see the magic added benefit you have.  Anything you can offer us here?

MR. HOEY:  That's -- that's how we understand the model to work.

MR. LADANYI:  We're sorry you don't understand it.  I think the other intervenors picked it up, but we don't know what to do with you anymore.

MR. POCH:  That's fair.  Let me see if we can get through the rest of this pretty quickly.  You heard my cross-examination of Mr. Birmingham and his responses.

Relative to cost of service, you now have to carry a capital addition -- the cost of servicing a capital addition till rebasing.  You didn't have to do that before; correct?

MR. HOEY:  I heard these questions with Mr. Birmingham, and I had a slight difference in how I view this.  This is what I call cost of service thinking trying to think inside an IR model, and it just doesn't work that way.

But your basic premise, I think, is that it's like having a cost of service model that only rebases every five years instead of every year.

MR. POCH:  No, I beg to differ.  Let me restate, then.  You've got an escalation formula.  It takes into account, as you've said, a number of customers and you've got some escalation on that.

That's intended to compensate you for all the company's costs as they change over time, both whether you choose to make changes in your capital structure or your operating costs, and, in fact, gives you more freedom in the trade-offs in that regard; correct?

MR. HOEY:  Correct.

MR. POCH:  All right.  But I'm suggesting, once you're in that period, the choice to add capital, one of the differences between that and a cost of service situation is the formula doesn't adjust to give you more return because you've got more capital invested.

MR. HOEY:  For those new customers.

MR. POCH:  Right.

MR. HOEY:  Correct.  It also doesn't take away the capital -- or the return on any capital that was sitting in base rates at that particular point in time that would depreciate over the same period.

MR. POCH:  Right.  That's the starting point.  Okay.

But I think we agree with the general direction of the change, and if I have your evidence right, you're saying, from the company's perspective, other factors will outweigh that, so you won't be dissuaded from adding customers?

MR. HOEY:  Correct.

MR. POCH:  So let me ask you about the executive pay for performance structure at Enbridge.  Is it similar to Union's in the sense that the senior levels are looking at financial performance in the year recorded?

MR. HOEY:  They're relatively similar.

MR. POCH:  And let me then jump to the housing starts question.  And if you could turn to Exhibit K2.3, which I distributed earlier.

I think you can see where I'm going here.  I think, Mr. Hoey, can we agree that there's quite a good correlation between housing starts in a franchise and in the last five years, there has been a correlation between housing starts in the franchise and customer additions?

MR. HOEY:  Correct.

MR. POCH:  We can see that summarized as pretty steady percentages of the -- in the lower row on the right-hand column, adds of all kinds, that includes more than residential, that's why it's greater than 100 percent, compared to franchise starts.  It's been pretty steady there; right?

MR. HOEY:  Yes.  In a relative sense, yes.

MR. POCH:  All right.

MR. LADANYI:  It also includes non-customers and the people who are already living in existing houses who are changing their method of heating.

MR. POCH:  Right.  And so, if you were to take that number -- if we were to set a -- if I was to persuade the Board that incentive is needed here, in terms of an expectation, can you suggest anything better than -- I'm trying to shield you from the vagaries of the housing market.  Can you suggest anything better as a  basis for projecting attachments?

MR. LADANYI:  Well, you're assuming for a start that housing starts are homogeneously distributed inside the franchise area, and they're of same distance from where existing distribution system ends.

It really depends where the developers build homes.  If they're very far away, it would be unreasonable to expect us to add every home that has been built.  That would be quite unfeasible and so on.  I think you should really take into account that they're not going to be the same every year.  It's going to change drastically.

And the other thing I want to point out, the province has placed restrictions on housing development in GTA, for example, they are not allowing in development in the Oak Ridges Moraine.  So that has pushed housing starts much further north, and typically further away from the end of our distribution system.

MR. POCH:  So, if anything, you're going to have an even worse situation in the first year, any given year, than you would do if you were to hold to the same level of housing starts; you're going to face a tougher go of it because you've got higher capital costs to connect?

MR. LADANYI:  It might be more challenging in the future.  And the other thing that's also happening if you look at these numbers that I mentioned, non-customers, switching to natural gas from oil, for example, or electricity, that's a dwindling number.  It used to be about 10,000 a year that we had in years past.  It's down to about 7,000 a year as more and more customers within our franchise area who use other forms of heat are switching  to natural gas.  Obviously we're working with a declining base.

So, to stick to our ratio, as you're, I presume, suggesting, because one thing I want to caution everybody is, we actually don't know what your proposal is, Mr. Poch.  It actually seems to be evolving by osmosis this morning.  But you've never given it to us in writing.   We are not sure what it is you really want.   If you had at least filed evidence to tell us what you want --

MR. POCH:  I've been a bad boy, Mr. Ladanyi.  Let's move on.  We're getting close to lunch.  I don't know how much clearer I can be.  I'm suggesting you take this five-year ratio -- or -- that gives you that number there, 103, whatever the average of those numbers is.  We simply apply it against housing starts in future, and that gives you the pivot point, and I'm -- then the only remaining number we have to come up with is how much of an incentive do you need per attachment?  Okay.  So let's turn to that.

We asked you in our Supplemental Interrogatory No. 6, or we attempted to ask you, to try to get -- give us a number that would crystallize that.

This is the same interrogatory we gave to Union.  Union's answer was the answers to both Pollution Probe and Green Energy Coalition that appear in Mr. Klippenstein's materials at C20.4 and so on.

Now, Mr. Hoey and Mr. Ladanyi, I'm going to try to avoid the need for an undertaking and any delay and all the work that that might entail here.

Mr. Birmingham basically pointed us -- in fact, he was clear; if you want to look at the differences between the cost of service and the incentive rate regulation with respect to -- that flow from this changed structure and sort of try to do an apples-and-apples comparison, he pointed me to 20.4 and focussed in the end, I think, on the first column there, and said, yeah, there's a revenue deficiency in the first year, and under cost of service, you would get to flow it into -- you would get a rebasing and you would be safe from that.  And, you know, you have to carry it under IR.

Can we agree that that's generally the same situation?  I'm going to ask you to go even further and see if you can agree that the impact on the company is the same order of magnitude.  Let's keep it just at that, as Union tells us.

MR. HOEY:  Sorry, just so I make sure I -- it's on C20.4, page 1 of 2, updated, and you're looking at the column for 2006 and the $141 per customer?  Is that --

MR. POCH:  That's what -- yeah, in the case of Union.

MR. HOEY:  Okay.  It's probably in that neighbourhood. 

MR. POCH:  And that being the case, I'm not going to ask for an undertaking, Mr. Chairperson.  I think that's the kind of accuracy --

MR. HOEY:  And again, I think as Mr. Ladanyi said, and with having gone through a settlement agreement for 30 days, the devil's in the details as to how it actually works and how it's going to clear itself, what the process is after the fact.  How much tracking do we have to do on a marginal basis, and to a certain extent, at $141, the solution may cost more than the incentive in the first place, and that's what we were -- that's, I think, one of the things we're worried about, especially given one of the things of IR is to create more productivity and therefore get rid of some of that what I'll call overburden.  But we wait.

MR. POCH:  Those are my questions, Mr. Chairman.

MR. KAISER:  Mr. Penny, if we give you a short break, can you proceed to argument?

MR. PENNY:  Absolutely.

MR. KAISER:  Some re-examination?

MR. SOMMERVILLE:  Turn your mike on.
Re-examination by Ms. Newland:


MS. NEWLAND:  You have said that you were incented in your model to add customers; correct?

MR. HOEY:  Correct. 

MS. NEWLAND:  And a Y factor for natural gas, and we have, in the settlement agreement, a Y factor for natural gas-fired power generation projects; correct?

MR. HOEY:  Correct


MS. NEWLAND:  Would any further incentives as proposed by GEC or Pollution Probe be, in effect, an over- or double recovery, in your view?

MR. HOEY:  Yes.

MS. NEWLAND:  Thank you.

MR. HOEY:  It would.

MR. KAISER:  15 minutes sufficient, Mr. Penny?

MR. PENNY:  Yes.

MR. KAISER:  All right.  We'll come back in 15 minutes.

MS. NEWLAND:  Mr. Chair, can you repeat that?

MR. KAISER:  Are you ready to argue today?

MS. NEWLAND:  Yes.

MR. KLIPPENSTEIN:  Mr. Chair, I wasn't if I might be  excused and perhaps pick up the argument on the transcript if necessary.

MR. KAISER:  Yes, certainly.


--- Recess taken at 12:56 p.m. 


--- On resuming at 1:12 p.m.

MR. KAISER:  Please be seated.  Mr. Penny.  
Submissions by Mr. Penny:


MR. PENNY:  Thank you, Mr. Chairman.

We are, as you've heard, somewhat handicapped by the lack of detail around the proposals that underlie the GEC and Pollution Probe approach, but, as I understand it, in general terms, the Pollution Probe proposal is that there should be a pass-through to recover the -- essentially, the deficiencies associated with the cost of capital on rate base resulting from attachment of residential customers during incentive regulation, and that GEC is recommending an SQR-type measure relating to residential customer attachments with financial penalties and rewards based on the relationship between Union's attachments and the -- as a percentage of Ontario housing starts.

And the stated purpose of both these proposals, as we understand it, is so that Union has the incentive to attach as many customers as possible.

Union's reasons for rejecting both these proposals is, quite simply, that there is no problem; that the Pollution Probe and the GEC proposals are, we say, solutions in search of a problem. 

The evidence that customer addition -- sorry.  The reason I say that is that there is no evidence that customer additions suffered during the prior PBR term that Union had.  

Indeed, the evidence is to the contrary.  There's no evidence that customer additions are likely to suffer under incentive regulation in the next five years.  Indeed, to the extent there's evidence on that topic, it is to the contrary.

And so this so-called problem is pure speculation on Pollution Probe and GEC's part.  And even that speculation, which is based on an alleged incentive to shave customer additions because new rate base will not generate a return on investment until rebasing, they say, even that speculation is completely unsupported by the evidence.  

And that I say because, even without the return on rate base, Union's net margin is positive within a year of its customer addition investments, capital investments, as you've heard, and is positive over the five-year term of the incentive regulation plan.

So just to return to a couple of these themes, under performance-based regulation, as you heard from Mr. Birmingham, Union was performing under what it regarded as a very stringent, very stringent, productivity factor of 2.5, and its parent was capital-constrained in that period of time.  

And during that time, where the -- it was a price cap plan.  The alleged incentives to shave customer additions that my friends refer to were exactly the same under performance base -- under the three-year performance-based plan as they would be under the current incentive regulation plan.

And during that period of time, customer additions did not drop off in 2002, 2003.  They, in fact, increased.  So there's no evidence -- and you see that in Exhibit C20.1.  And so there's no evidence that this has historically been a problem.

Union, as you heard, has an obligation to serve.  Union, as you've heard repeatedly from Mr. Birmingham - and my note indicated that on several occasions he gave testimony - that taking down customer additions, for example, is not in the financial interests of the company, he said on one occasion.  

On another, when it was put to him that the company did not have the legal obligation to attach customers who did not lie directly on an existing line, Mr. Birmingham's response was:
"Well, we don't have a legal obligation, but we have a strong financial incentive to grow our business."

So not only is there an obligation to attach a certain class of customer, those that lie in direct proximity to existing line, but Union has a strong financial incentive to attach customers, both, I might add, in the short term short term and in the longer term.

Another issue that Mr. Birmingham gave evidence about was -- on the topic of the capital investment generally, was that customer adds only represent about 15 to 18 percent of the overall capital budget.  And Mr. Birmingham indicated, as did the Enbridge panel on exactly the same topic, that if Union did feel constrained to cut costs, that customer additions would be the last place it would look.  It would look to the reaction of OM&A, and if it had to cut into capital, it would look for other capital projects, i.e., those which were not immediate -- or virtually immediately revenue-generating.

So Union would have the other 85 percent of its capital budget to look at first.

Mr. Birmingham's evidence was, and it's Union's position that the settlement parameters under the agreement that has been put before you, and now accepted by the Board, is sufficient for the commitment of its capital spending program.  And I'll remind you that that capital spending program is anticipated to be in the $275 to $300 million range, so a good deal larger than it was during the PBR term.

And the evidence is that Union does not see the incentives under incentive regulation as being any different from the incentives under cost of service when it comes to the desire to attach residential customers.

I might also note the evidence that was brought out by Mr. Klippenstein on cross-examination, that the alleged deficiency caused by the inability to recover immediately the return on rate base associated with customer additions was -- the evidence, I believe, was 0.4 percent of Union's overall gross margin, and Mr. Klippenstein wanted to know what it was including cost of gas, and that was 0.19 percent of Union's total costs.

So there's no evidence, certainly, that something that small would drive incentives, and, in my submission, the very de minimus nature of that amount suggests, even at a common-sense level, that this would not -- that this would not drive behaviour.

Mr. Birmingham categorically rejected the suggestion that if revenues were squeezed, that the company would have any operative incentives to reduce customer additions.

Exhibit C20.5, which was in Mr. Klippenstein's book, K2.1, at page 16, in the second table it shows that, assuming the 2008 conditions remain flat throughout the period, because of course you have to make some assumptions to do these forecasts, but assuming that the 2008 economic conditions remained the same, that customer additions are accreted to earnings by a positive factor over that five years of about $4 million.

So it seems, in my submission, Mr. Chairman, all of the evidence is to the effect that it hasn't been a problem, is not likely to be a problem and that Union's incentives are such that they would not want to reduce or to cut customer addition behaviour in order to deal with -- even in order to deal with short-term economic pressure.

The proposition that founds my friends' position is an entirely theoretical, entirely theoretical one, as you heard several -- you heard Mr. Birmingham and the Enbridge witnesses say, Well, that may be true in theory, but that isn't how we run our business.  It's an entirely theoretical problem and one unsubstantiated by any evidence.

It's interesting that none of the representatives of customers support the GEC and Pollution Probe proposal, and it's not because they don't have an interest.  Of course, as we've heard this morning, all customers do benefit from system expansion.  So customers do have an interest in the addition of more customers, of course, the fundamental reason being that more customers means a larger base over which to diffuse fixed costs.

And the fact that customers who benefit from the expansion of the system are not worried about this so-called problem is, in my submission, a further indication that customer attachment during the incentive regulation plan is not going to be a problem.

You heard from Mr. Birmingham as well that, at a theoretical level, that the addition of another deferral account is inconsistent with incentive regulation generally, and I wanted to refer, in that regard, just very briefly to the NGF report, which, at page 31, had the Board's conclusion on the subject of off-ramps, Z factors, and deferral or variance accounts, and the conclusion was that:
“An appropriate balance of risk ask reward in an IR framework will result in reduced reliance on deferral and variance accounts and reliance on off-ramps", et cetera.  

So, in my submission, the proposal that the customer addition costs be treated as a pass-through is also swimming upstream, if you will, or runs counter to the underlying proposition that reliance on deferral accounts should be discouraged rather than encouraged during an incentive regulation plan.

And if I could briefly summarize, at least Union's view, and I think this is reflected in the NGF report.  
The objectives of incentive regulation principally, comprehensiveness, simplicity, rate predictability and rate stability; all of those things are negatively affected by a deferral account and would be negatively affected by the kind of pass-through that my friends with GEC and Pollution Probe are talking about, because it means it's less comprehensive, because you've got this deferral account protection for the capital, you don't have to manage that within the overall purview of the plan.  It makes it less simple because you've got this other issue; you heard Mr. Hoey say that not only is it theoretically less simple but you've got have tracking systems and people looking after this stuff to which there is, obviously, a cost associated.  It undermines rate predictability, because of instead of just having the simple formula that operates in somewhat a mechanic -- mechanistic way each year, you've got to have a deferral account clearing for another deferral account covering this issue with more -- potential for more process, certainly, and disputes, and it affects rate stability for the same reason.  It's an add-on to whatever the formula is doing.  Another add on, I mean, I'm not suggesting that there are no add-ons because cost of gas is still, of course, a pass-through, but this is a different, entirely different kettle of fish, and it's something that the company believes and everyone else who is a party to our settlement believes that both can and should be operated as a purview of management within, within the operation of the incentive regulation plan.

Now, turning specifically to the GEC proposal.  What Mr. Poch has described is in all but name a service quality requirement, in my submission.  It is -- he described it as an exogenous factor against which Union's service level and ability to attach customers relative to housing starts would be measured.

According to my note, the exchange was that Mr. Poch asked:  If you reduce service quality and you can achieve savings at the expense of service quality, that that would be undesirable under incentive regulation?  Mr. Birmingham replied:  It is undesirable and not in the company's interest.  And then the question was, Mr. Poch then said:  Now we have a new concern with respect to capital investment.

It's clear that it is of the same order, ilk and order, or genus, I guess, is the right word, as a service quality requirement, and I will just say briefly that in the NGF report, the service quality requirement was identified as an issue, and you'll recall it was a subject that we dealt with at the outset of this hearing because the Power Workers wanted to have service quality on the table.  And we looked at the Board's conclusions in the NGF report on this issue, and the Board said while service quality -- and I'm reading from page 32: 
“While service quality measures and standards could be developed as part of the IR plans, the Board believes that there is merit in setting the service quality measures and standards first.  Then the IR plans can be developed with the knowledge that the service quality aspect is fixed."

Well, and as you know, that process was undertaken, and while -- and there is certainly no incentive -- no reference to incentives for customer attachments, and indeed no reference to financial incentives or penalties at all in the amendments to GDAR, which encompass the SQR rules; and the Board Staff report, when that was issued as part of that process, indicated that -- I think it was at page 2, that: 

"The Board intends to implement a service quality framework through its rule-making authority.  The framework will not incorporate direct financial incentives.  Instead, the Board will monitor service quality performance and utilities will be subject to the Board's compliance process."

So, and then, I guess just to complete the thought, there was a process.  Consultations took places.  Input was solicited as QRs were determined.  Customer additions, as I've said, were not on the list or even sought by anyone to be placed on the list.  In my submission, whether GEC participated in the process is quite irrelevant.  It had notice.  It had the capacity to participate.  If it chose not to, that is, of course, their business.  But they ought not to be seen to come along now as if none of this had ever happened and try and upset the apple cart by introducing something that's completely new after the incentive regulation plan has already been developed and agreed to.

Financial rewards and penalties; again, contrary to the recommendations of the OEB in the NGF report, and as I've just read, contrary to the Staff's report that was prepared in association with the GDAR rules.

And apart from that, in my submission, the GEC proposal for incentives suffers from all the same defects as the Pollution Probe proposal.  There's no evidence of a problem.  Again, it's the same evidence:  There's no evidence of a problem.  The evidence suggests that customer adds did not suffer under PBR and will not suffer under incentive regulation.  The so-called problem is entirely speculative.


It's entirely in Union's financial interests, in my submission, the evidence is clear, to attach as many customers as possible.  Not attaching a customer in a given year, the evidence was, means you've lost that customer for at least -- and the associated revenue stream, I might add, for at least the life of the equipment.  So that if the customer isn't attached they go and buy an oil-fired furnace or they buy an electric furnace, and you don't get them back at least until that equipment has run its useful life or they're replacing it, and perhaps as Mr. Birmingham said, not even then; just through inertia, you've lost the opportunity.

So the fundamental premise of the entire argument of my friends, in my submission, is that Union will cut customer additions for short-term gains during the incentive regulation plan, and there's simply no support for that premise.  There's no historical support.  There's no support in the forecast evidence, and the company clearly has no financial incentive to do that.  As you heard repeatedly, the last thing you would do is cut revenue-producing capital.

The company has said and is comfortable with the fact that the parameters of this settlement agreement are sufficient to support Union's capital investment program.  There's therefore no reason, in my submission, why the agreement, the settlement agreement, should not be accepted in its entirety on this point.  Those with a financial interest in the outcome are agreed that a Y factor adjustment of the kind that my friends are arguing for is not desirable.  It's neither necessary nor desirable.

And for that reason, in my submission, the proposal making customer additions a Y factor, or seeking to create an incentive or service quality requirement based on customer additions as a percentage of Ontario housing starts, should be rejected.

Those are my submissions.

MR. KAISER:  Thank you.  Ms. Newland.

MS. NEWLAND:  Thank you, sir.

Submissions by Ms. Newland:


MS. NEWLAND:  Enbridge Gas Distribution does not need and it does not want an additional incentive, other than the incentive that has been agreed to in the settlement agreement, to incent it to continue to act as a responsible utility and attach new customers.


Distributing gas is, after all, our core business, and you heard Mr. Hoey testify to that effect.  And we can only grow our core business if we continue to attach new customers.  That's what we intend to do.  That's what we've already done, and we intend to continue that under the incentive regulation framework.


Now, Mr. Penny has made a very thorough and detailed submission about the reasons why Union does not accept the proposals of Pollution Probe and GEC.  Enbridge Gas Distribution generally endorses those submissions.  


However, there is a difference between the incentive frameworks under which Union and Enbridge will be operating, and so I would like to very briefly, without repeating Mr. Penny's submissions, to give you the top six reasons why we take the position that we are taking on this issue.


There are more reasons I could give you, but I will limit myself to the most important ones.


The first is that under the revenue per customer cap framework which has been agreed to in the settlement agreement, we are already incented to add customers, and I won't try to repeat Mr. Hoey's testimony.  You can read it in the transcript, but he explained in some detail the reasons why that's the case, and he referred you to page 48, in particular, of the settlement agreement, which shows how our distribution revenue will be adjusted on a year-over-year basis, in accordance with the adjustment formula.  And if you go that schedule, you can see exactly how it works.


Now, my second reason is that Mr. Hoey and Mr. Ladanyi testified this morning - or this afternoon, I guess - that the last thing a utility would do is to cut revenue-producing capital.  And Mr. Penny has alluded to that, as well.


And Mr. Hoey went on to say, Look, if we have a revenue deficiency for some reason, whether it's to do with customer attachments or some other reason, what we'll do is we'll find efficiencies somewhere else.  That, after all, is what we're supposed to be doing under the incentive regulation scheme, and we intend to do that.


My third reason is this.  Mr. Hoey testified that the revenue deficiency in the first five years for each customer attachment would be similar under IR as it is under cost of service.  So that leads us to ask:  What's the problem?  It's not going to be any different under incentive regulation than it has been under cost of service.  


If there was a problem under cost of service, we managed it there, and we'll manage it under incentive regulation.  In fact, we have greater incentives to manage it under incentive regulation.


My fourth reason is that we don't know the details of Mr. Poch's proposal, and here -- this reason really has more to do with Mr. Poch's proposal, but I think it also applies to Mr. Klippenstein.  As Mr. Hoey mentioned this afternoon, the devil's in the detail.  We had over a month and a half of very intensive and very painful negotiations over many aspects of our settlement agreement, but part of that was trying to hammer out the details of how things would work.  


We haven't had that process with respect to Mr. Poch's proposal.  In fact, we don't even know what that proposal is.  So, once we find out, I guess, in his argument the precise details of his proposal, we're going to have to figure out, Well, how does it work?  


And I can tell you, as the person who has been drafting the settlement agreement, or the primary drafter of the settlement agreement, you think you've got an understanding on how something works until you try to articulate it in writing, and then the parties recognize we don't know how it's going to work.


So I suggest that that's a very important consideration in your deliberations.


Mr. Penny pointed to the Natural Gas Forum report and mentioned about decreasing the process and decreasing deferral accounts, and I won't repeat his argument, but I would like again to refer you to the testimony of Mr. Hoey, where he said, Look, we're going to have to develop an administrative and a regulatory process to deal with a very small problem, if there's a problem.  It may not even be a problem.


And there's one more and important reason, and it was the very last point Mr. Hoey made in re-examination, and that was, in our estimation, an additional incentive would in fact result in over-recovery by the company.  And surely that's not in the best interests of ratepayers.


So for all of these reasons, we urge you to dismiss the proposals of GEC and Pollution Probe and accept the settlement as filed.


Those are my remarks.  That concludes my remarks, Mr. Chairman and Panel Members, on Issue 5.1 specifically, unless you have any questions, but I have an additional matter I'd like to raise with you now.


MR. KAISER:  Thank you.  Please go ahead.


MS. NEWLAND:  Mr. Farrell this morning alluded to the fact that we had been canvassing parties who are defined in the settlement agreement as the "agreeing parties" as to whether they would agree to amend the settlement proposal to sever the 5.1 dispute, disputed aspect of that issue, so disputed by Pollution Probe and GEC, from the package.


And I'm happy to report that we've now managed to reach all agreeing parties, which include not only the parties who actively agreed to the settlement of 5.1, but also those parties that took no position.  That's how "agreeing parties" is defined.  And all of them have agreed to that proposition.


And with your leave, I would propose filing a revised settlement agreement on Monday to reflect that, and also to reflect the fact that Mr. Shepherd has changed his opposition to a number of issues and is now taking no position in those.


And my last submission would be, in light of the agreement to sever the 5.1 issues, that Enbridge Gas Distribution would ask the Board to rule as soon as possible on the complete settlement package; subject, of course, to the Board's subsequent ruling on the 5.1 issue.


MR. KAISER:  Yes, we'll do that.  You'll file amended agreement on Monday?


MS. NEWLAND:  Yes, sir.


MR. KAISER:  We'll proceed as quickly as we can --


MS. NEWLAND:  Thank you.


MR. KAISER:  -- with respect to a decision.


Mr. Scully, did you have anything to add to this debate?


MR. SCULLY:  I was presuming, Mr. Chairman, that I would have the opportunity to present written argument, 

but --


MR. KAISER:  Yes.


MR. SCULLY:  -- in the interests of saving everybody's time and my effort, I would merely like to adopt the argument of Union and Enbridge --


MR. KAISER:  All right.


MR. SCULLY:  -- as I've heard them this morning, and not file written argument.


MR. KAISER:  Thank you.  We'll hear then from IGUA, as agreed, on Monday in writing, and from you, Mr. Poch and Mr. Klippenstein, on Wednesday, with reply argument from the two utilities on Friday.


MR. PENNY:  Yes.  Thank you, Mr. Chairman.


MR. KAISER:  Again, in writing.  Anything else, Mr. Millar?


MR. MILLAR:  No, sir.


MR. KAISER:  All right.  Thank you for staying, and, as it turns out, we're the only people left in the building, so we wish you a safe trip home.


MR. PENNY:  Thank you, sir.


MS. NEWLAND:  Thank you, sir, Panel Members.


--- Whereupon the hearing adjourned at 1:40 p.m.
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